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INSTRUCTIONS TO CANDIDATES 44.fiW $ 	ffibr 

Read the following instructions carefully before you open 
the question booklet. 

A.-i .gir---T4r-64 -R4 i-4 for f4-h-l• 	tzr.F11-4-T tr-  1 

1. 	Use 	blue/black 	ball 	point 	pen 	only. 	There 	is 	no 
negative marking. 

1. 	q ci 	/4,0 4-a' IZZI1-0 49 WI WIT M-4 I ,leict  

3c-ck) 	FR.  kklt4 iTrWrr -A t I 
2. 	This test booklet contains 200 questions of one mark 

each. All the questions are compulsory. 
2. *.4 	,-1 P--T 14 200 10-T ft4 7.14 t I Tit AV-14 

\i--H x,11  3TI -4-fzi t 
3. Part 1 :- GK : 1 - 50 questions 

Part II :- General Science & Math : 51-200 questions 
3. 	1-T FT 1 	: 31I1f^z4 	-1i-r : 	1 	— 50 	S4 	-1 

liFT 3 : \Lill-i1-4 ftT9 31 	Tifttrff : 51 — 200 TiTi 
4. 	This test booklet contains 200 questions of one mark 

each. All the questions are compulsory. 
4. 	*sti '51"ca PiTh-T 14 200 A9 f 	1174 t I TA Wal 

\3rH 	,-II 3T-1f4 t I 
5. 	Answer each question by darkening the one correct 

alternative among the four choices on the OMR 
SHEET with blue/black ball point pen. 

5. 	. i-R- 	o-,,,,.4 ' 	4 t 	q ci 	"-, 	t 	Tft 	f4-WF:r 

/(t,1(4 bier t-c4i;K -Or Met 1TT- 	ViztiP7o 	--. 1 

Example: \316,<ur 

Q. No. Alternatives Q. No. thm-- T 

Tret -d-trwr Correct way: 1 CD 0 • 0 1 0 © • 0 

Q. No. Alternatives Q. No. fa-- zr 

ileict Wrong way: 1 0 G 0 0 .uqrwr 1 0 G 30 0 
Student must darkening the right oval only after ensuring 
correct answer on OMR sheet. 

Wet \TK-k 	t f- P-tici 	ct 	l 	-R-cuct 	'et 	•kigl f4T-ezi •-)- 34 
-> 3TR i=r- 	tH viqi14K-1 m-- i 

6. 	Disparity in mentioning (SC, ST & PH) in application 
form and OMR sheet can make your candidature 
invalid. 

6. 	auk 	IN UUT 31'1 71i au 	EN.  4 8).Dir (SC, ST & P11) 
wr 3i-d 	aill 	rtaTT Thr'l 	,t9 < •t-zicl I 	(t)) aitu .--- 	•ii,pcti 
t I 

7. 	Students are not allowed to scratch/ alter/ change out 
an answer once marked on OMR Sheet, by using 
white fluid/ eraser/ blade/ tearing/ wearing or in any 
other form. 

7 	trt&Troi 	-, E4H WITZ 	Trif 	f*Vi ‘3-c1 zr  f--41 

WilH '01/ 	../ 	ftieT4 	T-41 4RV 	tic 	, ‘3-ict7/ 
-ci-il 	Tzi-  rft t 1-1NOci ,1 	 I  TT- 	I 

8. 	Separate sheet has been provided for rough work in 
this test booklet 

8. 	ci-,,_ 	Th--r-4 	j R  yR,i- liftw A 3Tffitott crd ,311 * I 

9. 	*Please handover the OMR sheet to the invigilator 
before leaving the Examination Hall. 
*Take all your question booklets with you. 

9. 	*-zi-r 	a- 	1-11 	31-R 	trq 	-qt&cfr 	.,9i-t.0,-f 	alb 	1:17 	Tai- 

• -r-4 F4t- - 	m--'r 	Irm.  t 	I 
*Ti"- 	m--f 	WT314 ct,) 311:1- 	wrzT 	,i14 I 

10. 	Darken completely the ovals of your answers on 
OMR 	Sheet 	in 	the 	time 	limit 	allotted 	for 	that 
particular paper. 

10. F4giftff 	0.-1 tr-1 ml- 3 	ful-ftd 7FrEr -At4r A tt 3.1)• 
-cM 3TR AN.  tH 1.Plztalci ct) 	I 

11. 	Your OMR sheet will be evaluated through electronic 
scanning process. 	Incomplete and incorrect entries 
may render your OMR sheet invalid. 

-Tr 11.  31-1-crTh-T  air  vii 	3iN IN 	*(:1,4-) 	ct, 	W4 As 	1-- r 

41-crr 	-1-Orr I argt TRH .gft- of 3rgr-4-er aTrur 	atr 
Vii 3TR 1:1-J m--'r 3T4tT TR \LictA t I 

12. 	Use of electronic gadgets, calculator, mobile etc. is 
strictly prohibited. 

-(--zirft 12. 	04.01)(1, 	-#7;i1-, 	Ti-Tror . Ti-i--4F- ---d- 	Ti 	wi)-1-1- 

).eki: 144Rra t I 
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GENERAL KNOWLEDGE 
*11411-el 

(QUESTION NO. 1 - 50) 
(S0.1 *itq-4I 01 - 50) 

1. Solar Impulse-2 is a: 

	

1. 	Missile 
2. Solar powered mobile phone 
3.,,•Solar powered aircraft 

	

4. 	Fighter plane 

1. 

3. 	th 	ff4-1  

TT)--- 	*4-Lic-i-f-2 t lc1-) 
1. liifi-r-F 
2. a 	thud •qf6 	ei tb--\19-  

"Rft- 	uff 	-rd-ff 
4. 	c-wco, f4TER 

2. The company which launched 4G services 
for the first time 
1. 	Airtel 	 4. 	Aircel 
3. Idea 	 5. Vodafone 

2. '41-- d 	-4 	11---0'f 	611 	4G 	)---41.34): 	'''t -VS- 3T1-d- 

ct.).) FJ{ 	-WPTIfir * : 
1. 	74-RtF 	 2. 	71174-6.  

3. 	31T1ziT 	 4. 	c)- 	I t-b),-i 

3. What is the maximum number of over a 
bowler can bowl in T-20 cricket? 
1. 	Six 	 2. 	Four 
3. Two 	 4. Three 

3. t -20 ft- z 4 	.) 	- 	gr-T f+-7 - T 

*icp4 cilc,) 31q# cA 3Tf4T-dTF .-11 cM1 t? 
1. 	U: 	 2. 	zik 
3. 	t 	 4. 

4. Which of the following is the official slogan 
ior the 	2016 	Rio-olympic and 	paralympic 
games? 
1. "A new world" 
2. "Love and save nature" 
3. "Inspire a generation" 
4. "Welcome home" 

4. ft if 	-4 --)' 	(0)-N-11 	2016 	ftE1-). 	31t-fZ1-• 	31 

1 ,1 d P-14-) #4-9't * f'67 33-f0-Wff4-T •-ci) 4 1.-1 *? 

"7 1. 	
cif,. 

"cl 2. 	d 	)c-I 	•)-c-IsC 

3. 	"---k-iiLk 	7 	‘3).-11-1- 

"'c-ict)4-1 4. 	Z)-4:1- 

5. The 	National 	Highways Authority of India 
(NHAI) has recently signed pact with which 
IIT 	to 	develop 	technology 	to 	construct 
maintenance free highways in India? 
1. 	IIT-Bombay 	2. 	IIT-Madras 
3. 	IIT-Kharagpur 	4. 	IIT-Indore 

5. ITT---el-zi 	-Ft&l -RT----q-p-f 	vr10----Tur 	61d 	A ft 
tq'Ic4 	t .q'ft-ff 	.1\3-1 4-11 41 	4r4 t fq.  f --Ri 

IIT t #if m *? 
1. 	IIT- 	 2. 2. 	11T- 41 ► 	f 
3. 	11T-\141V 	 4. 	11-1-- 

6. The Theme song "70 Saal Azadi Yaad Karo 6. "70 111c-1 311Vitt z41 .  c.r)%---4t" WIT{ g.  
Kurbani" 	for 	Tiranga 	yatra 	has 	been ra--#T1 zry- t t ft 	f -Ri 	TRT f -N- 414? 
composed by whom? 
1 	Sonu Nigam 
2. Asha Bhosle 
3. Kesiraju Srinivas 
4. Lata Mangeshkar 

1. a 1 -1 1-1-4 
2. 31171T IN-i C) 

3. 4,1Pkiq 5n-qm 
4. ricil 	i4 4)IcM 

7. Who has been posthumously honoured with 
the 	Ashok 	Chakra 	on 	the 	2016 
Independence Day? 
1. Hanamanthappa Kappad 
2. Havildar Hangpan Dada 
3. Niranjan Ek. 
4. Gursevak Singh 

7. 2016 	t 	.-cic-f•*-11 	f-aTi 	ER 	f 	4-k ut-kic1 

"3.Rft tish" t •d4-4-i Po ft-RTT 41211? 
1 	6-11-1-R-Tuff - 1-1zri- 
2. (.1c,1H 	4  I3T-C11-9. 	qI<T 

3. 1l.31.1 	*cq 
4. tV) .t) cl (4,  Rig 
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8 	What is the route of the India's fastest train 
'Gatimaan Express'? 
1. Delhi to Pune 
2. Delhi to Agra 
3. Kolkata to Hyderabad 
4. Mumbai to Bangalore 

8. 	ML)" f1 	N) drq Trf 
7-qtRI" 	4)1 	- 

1. f'T,--Q-1)-  ck-4 
2. 31-PTT 
3. ct))cictrcil gqsdGilq 
4.  

9. 	Which international airport become the first 
in the world to operate completely on solar 
energy? 
1. Indira Gandhi Airport 
2. Rajiv Gandhi Airport 
3. Cochin Airport 
4. Sardar Vallabhbhai Patel Airport 

9. 
3t-d-dttzr 

1. --ftu TWt 6cii* 

2.R-it4i 	-Ifft 6cll* 
3. )11-9-  6c.11 

4. .-Nqk Trc Tf A rT 6ci14.  3T T 

ffT4 4)1 AST 
t? 

Which cancer causing compound present in 
bread was banned by FSSAI? 
1. Potassium Bromate 
2 Potassium Glucomate 
3. Potassium Sulphate 
4. Sodium Bromate 

10. 	FSSAI gTAT tZ 	31TRQ--Ta "ft3i ctk-H ct)Ncr) 
-cH" Arc U 	 Trzre 

1. LtlaDNi-i 
2. ,i)a1i44-i 
3. ItrafirEm 
4. af-14-c Al- 

11. Under 'UJALA' programme which of the 11. 
following states, become the 1st state in the 
country to remove VAT on LED bulbs? 
1. Madhya Pradesh 	2. Uttar Pradesh 
3. Gujarat 	 4. Kerala 

'3.5-11dr ch l sh fl 	c16c1 f'41 r 
cpl-r 	LED T- 'ftR c)t 6ti.) UIMI 
4-TITff ch I AST -17zr I 61-11? 
1. liar AST 	 2. 3-K1N 

3. 4 U1 IC1 	 4. c.(-1 

12. Which number was approved on the single 
emergency number for India by the telecom 
commission? 

	

1. 100 	 2. 112 

	

3. 101 	 4. 212 

12. 	Vsd-GIN 31TE1Y4T 	ICI 	 c 	'4.17ff 

4 N-41? 
1. 100 	 2. 112 
3. 101 	 4. 212 

13. 	'Zika Virus' first identified in : 
1. Brazil 	 2. Nigeria 
3. Uganda 	 4. Venezuela 

13. "FM-T 	 1-16 -c-11-1 -U-41;12fli 	 

1. .ar41- 	 2. --II*AR-11 
3. TifT 	 4. as) 1 -11 

14. First state of India to have bank accounts for 
all householders of it states under the 
scheme 'Jan Dhan Yojana' : 
1. Chhatisgarh 	2. Delhi 
3. Tamil Nadu 	 4. Kerala 

14. \TN  
tritarR): 
	

G)ri.) 1101 4̀TRd 4)1 	

1. u-c11114 1 
3. c-if 

2. ft't 
4. 	c --1 

15. 	Full form of CFL is:- 
1, Compact Filament Lamp 
2. Compact Fluoroscent Lamp 
3. Central Fluoroscent Light 
4. Central Filament Light 

15. 	CFL 	tT -1141 t- 

1. ctActt 14)(1144t (;)11 

2. 4-Actt tfic-1161d 

3. (,,r Loc-4 	eqt 

4. 'k el  1*--6P4 

16. Which state has launched the scheme 'Aapki 
Beti, Hamari Beti'? 
1. Uttar Pradesh 	2. Telangana 
3. Haryana 	 4. Goa 

16. f+71. \Fizf ITT "37:1-4 -ket, 	4-et" 

71- 31-ru 
1. 	AST 	 2. 

3. 6R-11u1I 	 4. I3TT 
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17. In which city, Prime Minister Narender modi 
flag off "Run for Rio" on 31st July 2016? 
1. Bangalore 	 2. Chennai 
3. 	Delhi 	 4. 	Jaipur 

17. 31 ----0-4 2016 .W).  ft-Ti 71--g- 	# ATE 

'79. .-i-- 	41i 	4 	i.p' 	ftzl)-1 	ct)) 	4 	Ttlt 
ftZT-P 
1. 	tri 	 2. 	- ---ii 

3. 	it--- t 	 4. 	--z17 

18. Which of the following polymers is used for 
making bullet proof material? 
1. 	Polyvinyl chloride 	2. 	Polystyrene 
3. Polyethylene 	4. Polyamide 

18. f 4-'i 14 .R1 .1 --€ 	--OT Thi• 31TzlYTT i-----d-IF 
•-1141I.-1 -q-9T4 * f'7 r+-zir vi i 01 t? 
1. tilAf-ilei 	crc-i)•fl45 
2. t-I'l c•W -I 
3. tr1-4 PITzT 
4. 41cvN411.5 

19. The country that will host 2018 FIFA world 
cup - 

	

1. 	England 	 2. 	Russia 

	

3. 	Spain 	 4. 	Portugal 

19. cl 	I 	vi 	2018 WI 111;5T (FIFA) F474 01-1 

. 2̀1. 611-11 	(t-) 4I1 	t 	- 
1. 	-1--A'T 	 2. 	'i 

3. 	Te)- 	 4. 	VITTF 

20. The symbol of world wild life fund is - 
1. White tiger 	 2. 	Bear 
3. Rhododendron 	4. Red Panda 

20. --4 cil*c-5 	- T- T 	i:h 	(WWF) 	(PI 	;MIT 

1 ---0 t - 
-q 1. 	Tfcb-q qlt4 	 2. 	7T1 

3. 	k3)--1 -1.-1 	 4. 	ri i c-Pf til-T 

21. The author of the book 'Creating Leadership' 
is: 
1. Kiran Bedi 	 2. Najeeb Jung 
3. Arvind Kejriwal 	4. Anna Hajare 

21. "f- )i4i 	A.sP11-1 	-i14-10ii---cfi 	c -ui-- 

t:- 
1. 	fut-i-  *-1't 	 2. 	.9-1r0 ufn 

3. 	3TR.ff 	c\y0.1cliri 	4. 	31- T 	5krii 

22. Chicks, 	coorgs, 	and 	Margogipes 	are 	the 
varieties of 
1 	Tea 	 2. Coffee 
3. Cotton 	 4. Wheat 

22. f --07Zi,
c' 

 431 3t1- 	4-11,0 	rib(-1 Tit -K-1 el t - 

	

1. 	-c1144 (4) 	 2.''Wflt 4 

	

3. 	TT 4 	 4. 	4, 	c) 

23. The chemical that is used in artificial rain - 

1. Silver Iodide 

2. Potassium chlorate 

3. Sodium Nitrate 

4. Copper sulphate 

23. amr-ga-- 	-q-,56 	1'7 	-ilq-i 	cm 	zurzfrrr 
fir \iticii t- 
1. ir--R-  3T11-0 

2. LI)PRii-1 cre'i) 
3. *1)1 	.iii.-ii*e 
4. (01-4 	\LIc-il-k 

24. The 	transactions 	in 	stock 	markets 	is 
regulated by- 
1. R.B.I 

2. SEBI 

3. FICCI 

4. Finance ministry 

24. s-ticr) 	6ikrik 	c9.---i 	Th--)- 	- Li. 	ci 	cwi 
t_ 

1. R.B.I. 
2. SEBI 
3. FICCI 
4. f'4 - 	44-)11MLI 

25. 'HTT-40' is - 
1. A Trainer Aircraft 
2. A missile 
3. A mission to fight against terrorist 
4. A submarine 

25. "HTT-40 	4L1I t? 
1. -) 	"cif tai 	clIT-41-1 
2. ch  fliTiTtF 

-4)---9T 3. 3Tt-df -TII 	RI (4P-t) 	ri..) Tht 	(,t-) 

4. l  (.t-) 	- -1.5.11)P.-f 

Page 4 of 30 



26. The 	country 	that 	has 	decided 	to 	quit 
European Union after a referendum on June 
24, 2016 is- 
1. 	U.K. 	 2. 	Turkey 
3. 	Spain 	 4. 	Portugal 

26. \-1 	T 	chi 	-1141 --dlt 	T1 	q-1 	24, 	2016 	chi  
-01T V u-vii-ici 	31-1-1-1q TR TO-Rtzr ,-i4 	3T 

6) cm f4 1-4 f ---zrr  t- 

	

1. 	7:19 *0 	 2. 	qc1)  1 

	

3. 	 4. 	1chid 

27. The state without Vidhan Parishad is - 
1. Uttar Pradesh 	2. Maharashtra 
3. Bihar 	 4. 	Rajasthan 

27.  c1 	7 \1-57. 4 u161 f4UTff ITRTT .-61:  t - 
1. 	.3-ck .cutT- 	 2. 	+-iNN 

3. 	f4-6R 	 4. 	1\yl-M,-f 

28.  The tenure of chief minister of Jammu and 
Kashmir is- 
1. 4 years 	 2. 5 years 
3. 6 years 	 4. 7 years 

28. - 1=4I 	cl• 	-gtfl-R• 	$ 	ICql-it4t 	Fne  1 	-(14 	',MT:TM 

"0-th t- 

	

1. 	tiH 	citl 	 2. 	eff 	citl 

	

3. 	U: 	citi 	 5. 	,1 I d Ti 

29. Kolkata is an example of a 	port. 29. ct))(victcii 	f:+--Ri 	51ct)k 	ciq,oil 	4)1 	3q161 

t? 

	

1. 	Natural 	 2. 	Oil 

	

3. 	Riverine 	 4. 	Naval 1. 	ArTit- 	 2. 	c)ei 
3. 	f 	T 	 4. 	.-Nict,  

30. 'PAN card' issued by department of Income 
tax, is not used for the purpose of - 
1. Residential proof 
2. Identity proof 
3. Registered income tax payee proof 
4. Date of birth proof 

30. 3T1-z1- 	Fal-TPT 	-HT 	T-'1-  k) -1-Wi-g ftif 44 --). 
f$-Ri 3t4zi 	f 	Air 9t -Iturr u-ti ,1,4,c-1i 

t? 
1. (-lc) 	cOl 	M 4-iit-il 
2. (-16T-11-1 	V 	14 411u1 
3.'0111-0-  cf)q1c11 	01 	11i-111JI 
4. 	--=if'df4 4)1 	11 411u1 

31. In India, the Prime Minister 
1. Elected 	 2. Selected 
3. Nominated 	 4. Appointed 

31. 7-1TTJ it .C1T-TT -cfli t - 
1. 	func-t 	 2. 	=a-Erf4d 

''' 3. 	4-1-01- c-1 	 4. 
32. United 	Nations 	general 	assembly 	has 

decided to observe 20th February every year 
as the- 
1. World consumer Right Day 
2. World Kidney Day 
3. World day of Social Justice 
4. World Radio Day 

32. ' T471-ai -T1 	Mc'1 v) --k ei 	.3 	WCR)- 	71 20 
TTOI 	ct)) 	ft-Ri ffq-Ri.  * 	vu 	1).  TrR-4 	col 

N fzfl-  t - 1
fav4 	-):r4TY-qffr 31T7 fk-q--i- 

2. ittfa ciact) fk-aTi 
3. i1 ,(14116 4) -R:TRI ffTe 
4. f4Vq' --it--er ftu- 

3 	. Indian 	constitutional 	amendment 	122th 	is 
concerned with- 
1. Health 	 2. 	Education 
3. Tax 	 4. Sport 

33. 1224 4-TRtE1 Ti-titTT 	T416.-Tff 	4)1 

t- 
- 17-2,P4 1. 	t 	 2. 	ita-IT 

3 	4h1 T4 	 4. 	4-6 •R 

34. 'Garampani' sanctuary is located at 
1. Junagarh (Gujarat) 
2. Diphu (Assam) 
3. Gangtok (Sikkim) 
4. Kohima (Nagaland) 

2. 	, (ii) 
 

34. Th,o-i 'a-Ft" 311-/rRur R-21-ff * - 
1. 	v1,rilmi 	Nui'icl) 

ftcF3,M 
3. 	41.41a ct? 	P-1 44)41) 
4. 	T'f-ffliT 	(-11411cu) 

35. Indian Ocean is - 
1. S-shaped 
2. Triangular Shaped 
3. Circular shaped 
4. Square shaped 

35. f 	116k114k * - 
1. 	S 3TTWR Ohl 	2. 

3. 	iclict)N 	 4. 	c14141t` 
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36. 'SUSU' is - 
1. Variety of fish 
2. Variety of dolphin 
3. Variety of crocodile 
4. Variety of tortoise 

36. VI t - 
1. 4-itsA Th°1 	.) IT-QT1 	(F$74:0 
2. a-t).-f 	c,r) 	tfd-  (f4i) 
3. 41 4  N 11 -CU '4- 	CO 9.-Tfa (f 	T) 
4. WE.35,7 Met 	-) eft  (f) 

37. Nail polish remover contains - 
1. Acetone 	 2. Benzene 
3. Petroleum 	 4. Acetic Acid 

37. "a• 1:117T ftiTR* # 6 oi t - 
1 	7Ritetff 	 2. 	4- 

3. 	aOfz11-1 	 4. 	Cry .crftr 

38. The evidence of use of plough has been 
found at - 
1. Kalibangan 	 2. Lothal 
3. Harappa 	 4. Banwali 

38. $d 	trzlYri 	'ffra-7 	e) * - 
1. 	coicNi4ii 4 	2.'2FF 
3. 	$. 1-11 	 4. 	,s1-1(41A 	14 

39. India's first underground 	museum will 	be 
opened at - 
1. Patna 	 2. Ahmedabad 
3. New Delhi 	 4. Jaipur 

39. q2.1-R qTR-er4 •41-Prm ,14,161eizi u\r6-r viN41,-- 

1. 	4e.11 4 	 2. 	3T-611-qT-4Tq 11 
3. 	"-4 f'"1' # 	4. 	WPF # 

40. The world's first hospital is on train 
1. Gatiman express 
2. Jyoti express 
3. Life line express 
4. Red cross express 

40. r474 W ErtFT 31WEEdIF  	c,1411.4) ER t 
1. 404-shi 74,ZiefTE 
2. '1)it .cTiritM 
3. 'TT:F efi*-i 7-4;Z:F;re 
4. 5 soisti 7TiltfR1 

41. Which one among the following produces 
seeds but not flower- 
1. Cashew nut 	2. Coffee 
3. Pine 	 4. Groundnut 

41. 

- 

- 4 1-•-if 	cf -4 tf 	ct) 	v1 	‘30-1--1 	4)c-11 	t 
*r-.9.  i:w m-r ‘30-Hq-r -A 4)c-11 - 

mli 1. 	colq 	 2. 	t 

.r-  3. 	 4. 	7154t 

42. Skill development program "Himayat" has 
been launched in - 
1. Jammu & Kashmir 	2. Maharashtra 
3. Bihar 	 4. Odisha 

42. *ZI-F r4M-TRi 4)1 	st)4-1 "i41mc-i" Thl• TFRAT 
ft-tri -rte  - 
1. 	vi4-4., V-1 	W411)7 14, 	2. 	i-i6kit 	4 

3. 	fttR -4 	 4. 	31)-ftur # 

43. Cycling track is called 	 
1. Court 	 2. Velodrome 
3. 	Field 	 4. 	Rink 

43. ,th*ct)fif t-T ct))  	4)61 	ullc11 * I 

1. 	cr)) 	 2. 	t'AtT:f 
3 	Itl- 	 4. 	f 

44. The major aim of deraluation of currenajis 
to :- 
1. Discourage export 
2. Encourage export 
3. Encourage both export and import 
4. Encourage import 

44. t,qI 	31-411F:19. ---1- 11-Caj Ztx4-4 t - 
1. ftzrl-ff mt 601mWi cm-li 
2. fkr11- 	Th--)' 11lc-thW1 	ct)-11 

3. 3-TRIM 	ffiEliff 	)-1) (4)) 14 c'dRct 4).-11 

4. 341-7:1Tff Mt li ctiQc1 	ct)• -11 

45. Phylloquinone is the scientific name of 
1. Vitamin D 	 2. Vitamin E 
3. Vitamin K 	 4. Vitamin B12 

45. 4)1*(1)44-111 	 5T taTftT 	-11:1 t I 
1. 	itP.-i D 	 2. 	c-1P-i E 

3. 	fatPi K 	 4. 	cidl 	-1 B12 

Page 6 of 30 



46. 	The main pollutant in the smoke coming 
from cigarette is 
1. Carbon monoxide and Benzene 
2. Carbon dioxide and sulphour dioxide 
3. Carbon monoxide and Hydrogen sulphide 
4. Carbon dioxide and Benzene 

46. 	ft-71- 	tf 3T14 cute) 	# Apf Ate- t-- 
-4--41- 1. wr4A i-11-113Tr-4,zT 	uur 

2. TT4 5i0ITTFTO UP-TT 
*ictt-)i3T-1-4Ti1-0 

3. M-1-49' 4-0-1)341-07iTO MIT 611v-i-i 
,t-let-t45 

4. M-1-49' 5 43T-RITO MTT 4-41-9' 

47. 	Who addressed Mahatama Gandhi as 'One 
man boundary force'? 
1. Lord canning 	2. Lord Lytton 
3. Lord mayo 	4. Lord mountbatten 

47. 	ft-Ri 	A 	1151c91 	Try 	'49. 	.4q 	611‘3.;5* 
th-tR-RT t ,(-14-ci)%1 .1 -71? 
1 	qi I g MT4TT 	2. 	cii 	rg-e9 
3. 	di 	iiiq 	4. 	cii4 4-m3.;d  

48. 	The electromagnetic wave used in RADAR 
system is 
1. Radio wave 	- 	2. Microwave 
3. Infrared wave 	4. Light wave 

48. 	RADAR AulTt -4 cp -1 #t -47 T4Thtzf c1Vil 
wr 	-izrztri-  610i t? 

• 1. 	- it-TI)-  d44 	 2. 	Tiali OA 
3. 	3T-TTIff cia 	4. 	lict)W cia 

49. 	Which one of the following is not included 
within the meaning of 'animal' under police 
Act, 1861? 
1. Dog 	 2. Sheep 
3. Goat 	 4. All the above 

49. 	1861 	itrffii lcte 	3Tf49.  1-4---f 	t 	cD1-1 
'TM iii 	c61 gitTrErr -4 -161.  31-r-dr? 

1. 	vi 	 2. 	'4-)-- 
3. 	 4. 	it-N)ctc-f *Tit 

L
50. 	Which of the following Indian States does 

not border Bangladesh? 
1. Assam 	 2. Meghalaya 
3. Manipur 	 4. Tripura 

50. 	1*--1 	# t 	c61-1 TT ITT 	5T ,<IvLf 6i4R1i 	Yi 
* TiRT 'RTITIT 41' sc-ii ? 
1. 	3RITI 	 2. 	4)t-ileig 

3. 	-crffrF 	 4. 	fitIVT 

Page 7 of 30 



GENERAL SCIENCE AND MATHEMATICS 
i-114-11-i4 ft-0-F 3t1R" Tritff 

(QUESTION NO. 51 - 200) 
(50-1 i-k9-11 51 - 200) 

51. A body is immersed into a liquid; up thrust 
acting on it depends on - 
a) Density of liquid 
b) Volume of body immersed 
c) Volume of liquid 
d) Temperature of liquid 
1. a. b and c 	 2. b, c and d 
3. a, b and d 	 4. a, c and d 

51. 

a) 	* q-ic-ci  1TR 

lch citg f -tit • -q• 147Y-4 7Tth t, ‘3,0 7R' 
cot.) umi 3-47 Girl W-R.  cl-Pmi t - 

b)7-4 ql---A-  CI* 	3T1Trffff 1:F 

2. b, c3T17c1 
4. a, c 3117 d 

c) T-4 * 3171d-9 1:17 
d) i * MEI uR 
1. a,b3117c 
3. a, b 3417 d 

52. A graph for simple pendulum 
which X and Y axis are - 
1 	Y-time, X-temperature 
2. Y-temperature, X-time 
3. Y-length, X-time 
4. Y-(time)2, X-length 

is drawn 	in 
• Y 

• 

52. twei 	ei)rict) 	wit, -1). 	ittiT TrzIT t, 
V f -{fti x c.2TT 1/ 3Ta-T g - 

1. Y-,tv-i41, X-ciit-i 
2. Y-•Mti, X-,t141Ri  
3. Y-cam -4, X-ti 4-1 q 

	 WC 4. Y-cillizi)2, X- 	R11-4 
X 
	 ►  

53. A cool soft drink is kept on a balance. When 
its cap is removed the weight - 
1. increases 
2. decrease 
3. first increases then decreases 
4. first decreases then constant 

53. cup 6 	44 Liqrd m td-F c-Niuk t , t4) 

t I 	Wu 	iticr)1 	Gct(t) rf 	6d.  ftTIT 	vIlcil 	g 
O*101 I-TR- 
1. 	-44-Trr 	2. 	Elt-91- 
3. 0' T•TTT (47,  EltITT 
4. ITO EltilT 14),  347fteda s? 411 

54. A bullet is fired from a rifle the kinetic energy 
of the rifle in comparison to that of bullet is- 
1. Greater 
2. Lesser 
3. Equal 
4. Can't say 

1. 	vqiql 	2. 5T  

54. • ct-) 	,ie14)(-1 	tr 	CP 	I I) A 	-c4cii 	Wth 	t, 
'WV-Pei 4 Trfd-- 	owil Tlt-41 Tht Trfd-.  ‘3,,,i1 

'"'r qemi 4 tift- 

3. 	.skiEN 	4. 	V.0 ct)61 	-igl 	WT 
ticoof 

55. Action and Reaction - 
1. Act on same body and cancel out effect of 

earth other 
2. Act on different bodies and cancel out the 

effect of each other 
3. Act on different bodies and do not cancel 

the effect of each other 
4. Experience the effect of each other in 

same direction 

55. ft-4T 74 5.0 	.11 - 
1. 7-- 	et ci*cl 'ER 4)14 coka g•211-  'ci) 

cgti 	* vq-r-4 	ft-R- 	cm 	0 t I 
2. 31-6-9-31--a-9 	--R1 'CR ct) I 4 ct) (1 	ati-q 

.) sTr 	7Tr4 	--1-  f4R-R 	4"t  ta t 
3. 31-FIT-3T 91Tci*q tR cm4 •q57-0 * 3N 

.) Vft * vIrrq ft--if -j 	ci),?k) 
c,r) t1 rOTT 4 4. ) Tti 	791-4 	--). 

31-111-4 cl 	t l 
56. A body falls freely under 

potential energy u its velocity 
mass of body is - 

u2 	
guy 1. 	2. 

gravity when it loses 
becomes v, the 

2u 	u 
3. 	4. 

V
2 	v2 

56. .) ii-g Icid W:f ti 	fiiRT4 wrth * I 
31' 	3RT-4-, u ftQ1-rd-- 	o,, i1 04-1 tdt t 
4ID v t . 1-01 t I citg 	-1' 

U2 
	2u2  1. 	2. 	3. 

qaiiii-i 04ii- 

2U 
	u 

- 	4. 
v2 
	V2 V

2 	
V

2 

v 2 	V2 

Page 8 of 30 



a 

	► t 

t 

1 v 

3. v 

2. v 
 

59. Figure shows the acceleration time graph of a 
particle. Which of the following represents the 
corresponding velocity-time graph 

a 

	► t  

1. v 

 

2. v 

 

  

	► t 

   

4i
3. v 	 . v  

57. A baloon starts rising from the ground with an 
acceleration of 1.25 m/s2. After 8 second a 
stone is released from the baloon the stone 
will- 
1. Cover a distance of 40m. 
2. Have a displacement of 50m. 
3. Reach the ground in 4sec. 
4. Begin to move down after being released  

57. Ic 4T 	tf 1.25 m/s2  
WzR c 31R \36c11 	I 8 

') tr-cQR frr t c-14 TIT-QR - 

1. 40m 	cizi ct) 4111 

2. 50m 	 t 

3. li2r 17F4sec#'TTI  

4. fil74 	OccilTef Nlc 4 -cle)nr 

58. 	The work is done on the artificial satellite, 
when it revolves around the earth - 
1. No work is done. 
2. By gravitational force of earth. 
3. By gravity of sun. 
4. Engine fitted in satellite.  

58. rrrf   cI6 741.  
uer-dr t wrzl f$-zur Quo! *- 
1. c) 	4. wrzl -161.  f+--zrr 
2. 724- * Toccuct,tioi TTi 

3. TO 

4. 34 4.16 	 g171- 

59. 	f+-41-  chin 4)1 c-c-NuI-TFRT 1;114) itzif 41q1 
t I 3.‘L-1 (Pul (PI 	 tilt-t) 6 41I - 

60. A pebble is dropped into a well of depth h. The 
splash is heard after time t. If c be the velocity 
of sound then. 

2. t = c + gh 

-3, = c - gh 	 4. t =  

60. 	lcP  11-c-2,R h 3-c41 	(1) c12.7  14 firffr 
c6) 	t TT l t•-q 

tid4 t zrft   c 	f'41T 
Tret 614ii - 

1. t =
gc 

2h 

3. t = c - gh 

2h h 
=+- - g c 

1. t = \I gc  
2h 

2h h - + - 
g c 

2. t c gh 
4. 
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61. Hold a stone at the end of a spring balance. 
The pointer reads 5 kg wt. Now release the 
spring balance, then pointer will read. - 
1. More than 5 kg wt. 
2. Less than 5 kg wt. 
3. equal to 5 kg wt. 
4. Zero 

61. ) 	1114  1 qd 1 

I 	Rii4i 
I 	314 

31-11:i.  f4--1 'ERLct,  irceR 

c1ect)1 	t vi W Ti---d.T 5 kg wt 
Giciicii 	t (i-iii 	qcif ZT2T t 	ts) 

tI7, tick-RP 
1. 5 kg 
2. 5 kg 
3. 5 kg 

qzT1 

wt t 
wt t 
wt * 

TIN RtqH)411 - 
vt1141 

Th-Ti 

610sk 

4. V.I 

62. • 
v (m/s) N  

iN 
ti 

The v-t graph 

a 	straight 

of the particle 

1. 	12.5m/s 

3. 17.5m/s 

A 

62. 
v (m/s) 

4  

'.4  ' 
'4 
F. 

• 

I I 	1 
1 	1 	t(s) 

I 
I 

	

I 

0 	4 8 	12 0  

of the motion of a particle along 

line is given. The average velocity 

is - 

2. 15m/s 

4. 20m/s 

.''. 

)). 	t(s) 4 	8 	2 

WI. 	--ur Allt 	4 	-cleia 	g 

-Tr--.4-0-14 JAN) Rqi 	rzrr -t1 coui 5T 311-ff'd 

- 
2. 	15m/s 	

• 4. 20m/s 

t71-)+ii 
1. 	12.5m/s 
3. 17.5m/s 

63. A silver ornament is suspected to be hollow. 
Its weight is 250g and it displaces 50cc of 
water. If the specific gravity of silver be 10. 
Find the volume of cavity. 
1. 50cc 	 2. 25cc 

3. 10cc 	 4. 250cc 

63. Lit, 	tri 1 T51 

250g 
3flyfur 3T--7 7.q)grii t I 

\Li coi ITR t I TFU 50cc Lii-1) ftTQ.Tt:M 

'1-4't com t.  I qR 	-r. fafttz 4_t,occ4 10 t 

3-1---- * 	32Trff --i-  N-Rr-d- 	14111 

1. 50cc 	 2. 25cc 
3. 10cc 	 4. 250cc 

64. A particle 
force p 
time t is 

,s 	,22 
1. 	If i  

of mass 
for a 
- 

m at rest is acted upon by a 
time 't'. Its kinetic energy after 

P
212 

2. 

64. P m 

ci.) 	€1c4 

c414-11-i 	(61 	citq IR ft-P-T- 	3M-2.1T A 

p, 	ti4i44 	t ocr) 	evilqi TTEfi I Ti9-4 

t tilitl 	Ell< 

p 2t 2 
1. 

-frrd-  thviitert- 
-) 	1 

p-t - 
2. in 

2 
rt 3. 

• 2171 

4. 	Pt 

m 
n212 

3. 	1.' 

2,n 

4 
	Pt 

2in 3111 2m 
3m 

65. The density of ice is 971 kg/m3. What fraction 
of the volume of a piece of ice will be above 
water when floating in fresh water. Density of 
fresh water is 1000kg/m3. 
1. 	0.083 	 2. 	0.917 

	

3. 0.50 	 4. 	0.017 

65. 045; 	.. 	5,t,  
6i 

MT t4.-1ct1 971 	kg/m' I vii( 

sct)i 	flit-t) 	(-IA # cl,mi t 	*,414i  

3171--ff 	--- f --d-T 	'4-Trrr 	trrt 	* 	014'? 

c-)411 I .41147 iTrt • -•T t.frico 	1000 kg/m3 t I 
1. 	0.083 	 2. 0.917 
3. 	0.50 	 4. 0.017 
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1 

6e. 	A 	bullet 	fired 	at 	target 	has 	its 	velocity 
decreased to 50% after penetrating 30cm into 
it. Then additional thickness it will penetrate 
before comingcoming to rest is -

"FFE 
1. 1 Ocm 	 2. 30cm 
3. 40cm 	 4. 60cm 

-&-TT 66. 	qci) Titt vi Gt, ttt a# tVdcfl t 

c .&--,7 4 30cm 7{4 	Giiq \3,4-ict>1 kIT 50% 

cict) Vi 	\31) 	vlIcII t I .th TfiAlr sOct”) tf 

# 	fkut 	3ird-ftlu Trr-dr 	Oct) 	'4-4 

tritlit I 

	

1. 	1040 	 2. 	30 	0 

	

3. 	40 .)1.))0 	 4. 	60 	to 

67. 	The motor drives a body along 
with a constant force. The power 
motor varies with time t according 
graph? 

a straight line 
used by the 

to which 

67. 	c.1.) 	19)-d7 	ci') 	citq 	ch) 	#111 tfil.  # *Pim 

Gld R4 At--  th * -ef ltd-  TT c144 q 
Ve4T1 

1. 	P 2. P 
 

(P) U2T1 TiTRI 	+AR) 6)+ii? 

t t 

1. 	PI 	 2. 	P 

t o- k 

P 

3 . 

P 
 

4. 
 

PA 

3. 

PA 

4. 
t 	 ri-t 

ii- t 	 *t  

68. 	From a building two balls A and B are thrown 
with same speed such that A thrown upward 
and B downward (both vertically). If vil and v8 
are their respective speeds on reaching the 
ground then - 

1. vB  > vA  

2. VA  > vB 

3. v, =v13  

4. speed depends on mass 

68. 	Leh 	*4-Ikc1 	R) 	q)- 	4  .. A .-2TT B •ct) TiT2T 	c.t.) 

,4-14-11-i 	4i 	t EN''r 7r-dt -t, 	A 	co) 	3-zthW 

W:R 	30 	.2.TT B cP) 3W  

30 	r Am! 	I -zift tpt tR Drs0-4 tR 
3-9-4-  Tlici st-“in VA 	2-1-1 V8  tl.  'ff4 - 

1. vB > VA 

2. v 	> V A 	B  
3. vA  = vB  

4. TTt 	qc44 4-11-1 z17 f41-t.R. -----Tft I 

69. 	If a 	body 	moves 	in 	a 	circular 	path 	with 
constant speed. Then 
1. Its velocity is constant 
2. Its acceleration is constant 
3. magnitude of acceleration is constant 
4. None 

69. 	-) ci*q ,4191-1 	40 t qvilcPN -ENT IR Trit 
Th-Rt t .er 	i,dcf)i 

1. 4 1 	'tlill'i 	, !ii 

2. cr-Nui 	*iiii-i 	' 	4 II  
3. cr-Nui 	I-11-f 	-1 4-11-1 	411- 	- 
4. T914 t ct)) 	 -1g1 

70. 	Two particles of masses 	ml 	and 	m2 	are 
moving with equal linear momenta. Compare 
their kinetic energies if m1 > m2. 
1. El  > E2 	 2. 	El = E2 

m 
3. El  < E2 	 4. 	

E
1 = --I. 

E2 	M2  

70. 	m1 	2.1-T 	m2 	ccL1911.1 	c61 -4-1- 	cp4-q( 	c,r) 	til-II-1 
ti+i •i4 +A cr), 	'<gl t I 37-4 1T rd-- 	thul 

	

311111-d 	)41i (311-F ml > m2) 

	

1. Ei  > E2 	 2. Ei = E2 

E  

	

3. Ei < E2 	 4. - 1  - m,  
E2 	in2  

71. 	The velocity of sound in air is independent of 
change in - 
1. Pressure 	 2. Temperature 
3. 	Density 	 4. 	Humidity 

71. 	., f 	T tTT f* --1 # ft-Ti--- 	4-T6-4 Er- 	fq4-17 

--ig 	cmcii I 
1. 	-- 2. 

	ciit-i 

3. 	tmcci 	 4. 	3ITtdT 
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72. 	Which can be zero at centre of earth - 
1. Mass Mass only 	 2. Weight only 
3. Both mass and weight 4. None 

72. 	f41R 4 -R4 72t- 	,-- 	LN 	cb1-1 -vK----  
_ 

. -0-41=1T9-  1. 	 2. 	q-TR 
3. 	c C.L14-11--i 	UzTT '4.-TF q)--i). 	4. 	mil. 	Th61 

73. SONAR is based on the principle of - 
1 	Resonance 	 2. Reverberation 

73. a -i N f4li 4 	ft-i. 	iti--4--  LN 

3. Echo 	 4. None ,  
ci-)c-ii 	t 	- 

	

1. 	3FIfffq 	 2. 	4 kui 

	

3. 	1-it_4f - 	 4. 	<1,14-  -9t 

74. On the surface of moon, a pendulum clock will 

- 
1, 	Run slow 	 2. 	Run fast 

74. 	trlq 	c 	'606 	L-k 	LC 	ei) cl ct) 	Eflt 	,d14-11^4 
- 

3. 	Remain stationary 	4. 	None 
--o-Tfr 1 	-irlir 	 2. 	c)vi EC-1-fr 

3. 	-)c.t-) 	''T-4-ift 	 4. 	4)) 

75. 
2mm 	  

o., 	A 	,,s, 

75. 
2mm 

0.1 	A , (s) 

-2mm 

V 0.2 	8  

-2mm 

VO 2 	0.3 

The frequency of above wave is 
1. 	10 Hz 	 2. 	5 Hz 
3. 30 Hz 	 4. 0.2 Hz 

31114a cI,k 	31T 	t- 
1. 	10 Hz 	 2. 5 Hz 
3. 30 Hz 	 4. 0.2 Hz 

76. 	The velocity time graph of a stone thrown 
downward 

--- 76. 	4-) 	-cl-c-P-H 	 • -1:R 	-cP --wr 	,11 ci 	1 	*, 	ft  
vertically upwards and then coming 
after a maximum height is - 

31-f4--c-fq Vr cui cm.) 	-rq tt 

v v 
firTM t I 

v 

*-14)1 	41-Tfq-zr 7IFF 

v 

0411 - 

t 
1. 2. 

1. 	 2. 

v N./ ___••  

t

t 

3. 	 4. t 
3. 4. 

77. 	A body falling freely from rest has a velocities 
it falls 	distance h. The distance 

77. 	lcb ck-q RQR 34-4-i-UT t 	c-i-ki to tr h VT 
v after 	through 
it has to fall down further for its velocity to 

firT4 ." 	Eilq 	v 	Hl 	;ITTU 	-R--̀dr t I 	fd--4t 

become double is 
3N 	t fiiv 	qr-4.  .t64,1 	TT1 t 

1. 	h 	2. 	2h 	3. 	3h 	4. 4h I 
1. 	h 	2. 2h 	3.'3h 	4. 4h 

78. 	There is no effect of rotational motion of earth 
the 	 due to 

78. 	tpx-ti 	ItTf ft- 	TR, 3,tici 	31 	3TE W 
on 	value of acceleration 	gravity at 
the 

rici-cm 	cl 4 li.) t 	3M(t) 	TOcci -- ct?Hur ccNul 

1. 	Equator 	2. 	Pole 	3. Surface 
-9-6I -cR ct-,) 	gl7r4 	1.101 - 

4. Exactly midpoint between equator and 
pole 

-q-  

	

1. 	Val --Ufl. 	2. 	g 3. 	TITO.  

	

4. 	4-11=faf "T§TT -4 	q- Tfuf f4-- 
1TR.  
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79. 	A 	ball 	falls 	freely 	from 	rest. 	The 	ratio 	of. 
distance travelled 	in 	first, 	second, 	third 	and 
fourth second is 
1. 	1:1:1:2 	 2. 	1:2:3:4 
3. 	1:1:1:3 	 4. 	1:3:5:7 

---- -q•.1) 	. 	f:V.4-- 	34--aR--2/T 	11-qTr 	,by 	t fir 
- 1-0 t I 	41. 	giu 	zr-6-A 	q,10, 	tRi-- 	2-rr 

Th'-133* 	4 	04 	<41 	414 	Vzi): 	*I31--q-crT-ff 
1 -1 r -4 	trft- 
1. 	1:1:1:2 	 2. 	1:2:3:4 
3. 	1:1:1:3 	 4. 	1:3:5:7 

80. 	The frequency of second's pendulum is - 
1. 	0.5 Hz 	 2. 	0.1 Hz 
3. 2 Hz 	 4. 00 

80. 	ftkd-T 	'r 	3TTP 	ftif 	14 	.0 

&Tit - 
1. 	0.5 Hz 	 2. 	0.1 Hz 
3. 2 Hz 	 4. 00 

81. 	If distance 	between 	consecutive 	crest 	and 
trough is L. Then the wavelength is given by - 

1. 	L 
- 	 2. 2L 
2 

3.4L 	 4.L 

81. TTfl.  c101 	A m,-11,10 firm. -q- 41 	-- .4'm 
0 L t c 	c-1 41 4 iT4 A-1ft - 

L 
1. 	- 	 2. 2L 

2 
3.4L 	 4.L 

82. Which 

vi 

shows 
of the 	following 	velocity 

a realistic situation for 

-. 	v 
• 

. 

time graph 
a body in motion 

. 

82. 	1 	1..-fl1-1L1 -MT 4 	IT Trt 	-7-'d'i 
V 

v 

i 

cN-c-j 	1" 	.Rf4-4 t-  - 
vi 

,t  . t 
1. 

v 

t 
2. 

t 

vi 
1. 

v•  

t 

2. 

CID 

vi  

t  o- 
3. 	 . t 

3. 	 4. 
83. 	A car accelerates from rest at a constant rate 

• 'a' for some time after which it decelerates at•q--6-ei 
a constant rate fl 	and comes to rest. If total 
time 	elapsed 	is 	t, 	then 	maximum 	velocity  
aquired by car will be - 

(a' - fi2)t 	 fa: +fi2)t 
1. 	 2. 

83. 	c,t) 	cbk 	c,t) 	U4-i1-1 	R.1"1 	',a,'")- 	Ty 	-UPITt 
t I 	\3fl c. 	Gi i q 	ci.) 	fl4-11-1 	4-1.-<-1 	g 	t 

T)- 	W1-0)-  t I -Eff 	ON cto TITR1 t *dt t 
\3,-ic gi-Zr AlTd.  3TrUM-dli 	0411 I 

1. 	
(a2 _ fill, 

2. 	(a2 4-  'GIL 
afi 	 afl 

3. 	(a + Mt 	 4. 	
afi t 

afl 	 afi 
(a + Mt 	 a/3 t 

3. 	 4. a 	 ,g fl 	 a +  a,6 	 a + P 

84. 	A particle is moving in a circle with uniform 
speed v. In moving from a point to another 
diametrically opposite point.  
1. The momentum changes by my 
2. The momentum changes by 2mv 
3. No change in momentum 
4. Kinetic energy changes by mv2  

84. 	.ci) 	cOul 	Lc 	,14-11-i Tr it v --)- Lcb 	11-1 	4 -ci ri 
, 61 	t I 	WM 	-) 	f4---4 	q,-1 	flu'rff 

kji i ') ER 
1. s-i4,1 	my 	.iqd 	,iicti 	I  t 
2. '-041 	2mv 	vilc-11 	' I 
3. '4-0 4 1 .4 (IN L4Pcick 9---ef t,  or t I 
4. TTff7 owil -4 my2  LiRcicivi Ocir t I 
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.8a. If the kinetic energy of a body becomes four 
times 	of 	its 	initial 	value, 	then 	new 	linear 
momentum will

1. 
1. Become twice its initial value 
2. Become thrice its initial value  
3. Become four times its initial value 
4. Remain constant 

85. ti-f 	Lc 	cN-q m't Tlfd 	ti k 	tril t 
- 1--dt t .th 	‘t1ci')1 	-NI #4ITT ‘4 4 1 	0 4 1r - 

t 	+J'-iI 	t'r .-r4-Trr 

''H-  2. tt-II 	t . TT 

3. -c1H Til t -W?)-TFT 

4. R-QR ' 4 11 

86. A bomb of mass 30kg at rest explodes into 
two pieces of masses 18kg and 12kg. The 
velocity of 18kg mass is 6ms-1. The kinetic 
energy of the other mass is- 

	

1. 324J 	 2. 486J 

	

3. 256J 	 4. 524J 

86. ') 	c4+1 	(-icot 	c2-1 411,-r 	30kg 	t 	, -,.1, t 	.- 

q1-4- 	t 	5c r)\t .4 	rut-ici-)T 	c.L1 41l.-1 	18kg 	c21T 

12kg 	-4 	tc,t 	uilcii 	t I 	18kg 	,c.t) 	ct)I 

6m/s t t 0 5.5 ct) 	4 71fds 	k_ull .0-Tfi 

1. 324J 	 2. 486J 
3. 256J 	 4. 524J 

87. Kepler discovered - 
1. Laws of motion 
2. Laws of rotational motion 
3. Laws of planetary motion 
4. Laws of curvilinear motion 

87. *1:1--67 A 	ct,  1 3T-rftim-R fRff 

1. Tn 	-ftZTTI 

2. 71-9- -Trf 	--fizm 

ift 	fkci 3. 	4-0 	T 	ri  
4. r A' i-rf 	1 -z=rTi 

88. When a body is taken from poles to equator 
on the earth, its weight - 
1. Increases 
2. Decreases 
3. Remains the same 
4. Increases at south pole and decreases at 

north pole 

	

2. 	qtc-11  

88. • -4 -- 	ck-c1 --)- Tit ' - g-at'l-TUT - 11- 

Lk -- 	uiN-ii 	\3-1101 	t 	*,410)I 	11-17 - 

1. 	6-1c-11 

3. Lc 	‘t14-i1.-1 	6c11 	t 

4. -qt.-kilt ga Lk 	Elq,cit 	t T2Tr 3-----t % 

-itcil 	t 1 

89. The 	motion 	of a 	rocket 	is 	based 	on 	the 
principle of conservation of - 
1. Linear momentum 
2. Angular momentum 
3. Kinetic energy 
4. mass 

89. -Ici)t zm 	"Tft 	jr----1-- 	st-i. a-TuT 	z 	fir 	1:17 

34-TMff-ff t - 

1. 	Rzr , 4 4 I 	 2. 	-YuTITI , -i 	4 1 

3. 	Tn-Q- 	\31‘111 	 4. 	a-1 4-II-1 

90. The quantity which does not change, when 
sound enters from one medium to another 
1. Wavelength 	 2. Speed 
3. Frequency 	 4. None of these 

90. --4 	c.1-) 	0,01 l c,t) Tii-2=1T1 .R4 0 liT41 

--t9tft -4 - r-et * 	ff # tir 	Vfti 9t 

.----0). 

1. 	c-1 4 1Z-z 	2. 	"Tit 

-e't 3. 	311-1T 	4. 	T--4 ti ct-)l 

91. metal is present 	in vitamin B12 191. Rl 	-.--12 	 .4 Urg 3T-FR-2,M tth 
t I 

	

1. 	Nickle (Ni) 	2. 	Cobalt (Co) 

	

3. 	Iron (Fe) 	4. 	Magnesium (Mg) 
1. 	fk-4.- 	(Ni) 	2. 	ch Gilc-t 	(Co) 

3. 	a61 (Fe) 	4. 	tritit-aTi (Mg) 

92. 

L 

During 	roasting 	process 	zinc 	blende 	is 
converted into 
1. ZnSO4 	 2. ZnO 
3 	ZnCO3 	 4. Zn 

92. 7-149-  Aft7:11- 	1--r -f --- 	f[ LNIO 

44 7ftg-fd tr \An t? 
1. ZnSO4 	 2. ZnO 
3. ZnCO3 	 4. Zn 
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1 

93. 	A1,03  + 3Mg ---> 3MgO + 2A1, In the 

above reaction Mg acts as 
1. reducing agent 
2. Oxidising agent 
3. Purification agent 
4. Combusti on agent 31f4W4-.  

93. 	A1203  + 3Mg ---> 3MgO + 2A1, 3t-v4)cto 

afta-ar A Mg mr't 11-filwr 
1. 	3TEMRIT 	 2. 	311-4,efirWr 
3. 	,11- ct)Nct-) 	 4. 	q6-1 

94. 	Density of water is maximum at 	° C. 94. vici 	.WE 	tmcci 	°C 	014411-1 	ER 
1. 2 	2. 4 	3. 3 	4. 0 3T14W-dTE 001 t I 

1. 	2 	2. 	4 	3. 	3 	4. 	0 

95. Match the following : 95. 	1*.i Wr 3-ft.d.  f4F1- 	co 	: 
(a) As-74 (i) Treatment of 

Goiter 
(a) As-74 (i) tlqi ,N "WI •&riivi 
(b) Na-24 (ii) tRR TT *divt 

(b) Na-24 (ii) Cancer cure (c) 1-131 (iii)zTER wr Tur 
(c) 1-131 (iii) Detect tumors ei,11-11.  
(d) Co-60 (iv) Detect blood clot (d) Co-60 (iv) tri 	eT-o 	wr 

1. a(ii), b(iv), c(iii), d (i) 
2. a(iii), b(iv), c(i), d (ii) 
3. a(iii), b(i), c(iv), d (ii) 
4. a(i), b(iii), c(ii), d (iv) 

tic 	omit 
1. a(ii), b(iv), c(iii), d (i) 
2. a(iii), b(iv), c(i), d (ii) 
3. a(iii), b(i), c(iv), d (ii) 
4. a(i), b(iii), c(ii), d (iv) 

96. 	common salt gets moistured in rainy season 
due to the presence of : 
1. CaCl2 	 2. KCI 
3. MgCl2 	 4. AICI3 

96. 	GN ski I Cl * Thili 	t Dil 	r -Ho 4 4  eir-fri 
't 	 $t 3LINVTit * (mut Ocif 	I 

1. CaCl2 	 2. KCI 
3. MgCl2 	 4. AICI3  

97. 	How much grams of 02 is required for the 
complete combustion of 4.0g carbon? 
1. 	10.32g 	 2. 	10.16g 
3. 	10.8g 	 4. 	10.66g 

97. 	4.0 :IN TT-49.  -$ V4 q$,-1 -g-q f -d--4 VTR 
02  4 31-r-4-4-zwd-r etc 	t? 
1. 	10.32 	ti i4-1 	 2. 	10.16 317 
3. 	10.8 tiiii 	 4. 	10.66 317 

98. 	The leakage of cooking gas (LPG) can be 
identified by the presence of : 
1. Ethyl mercaptan 

2. Ethyl methyl ether 

3. Ethanol 

4. Methanol 3. 70-4M  

98. 	R3119T 	-91-4 	TITO. ,m 1i Ni (LPG) * 
itffg 4 L-16 -c11-1 f -i-i Liqld .4.  ucrNt-  .. 
corm ter t 
1. tf24F i-Ncb\cii 
2. f4F 1f4 	42 

' 	4. 	44-4m' 

99. 	Organic liquid used as nail polish remover is: 
1. Ether 	 2. Acetone 
3. Alcohol 	 4. Formaline 

99. 	fri ltr6V1 Td-T4 4 PIOT ZY4 licit W1-4-1 
Ta TW4 6)01 t I 
1 	P-N 	 2. 	. --iterff 
3. 	f-t))6cri 	• 	 4. 	t-t)14f-t 
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100. Deficiency diseases caused by lack of vitamin 
-E is 
1. Hair fall 
2. Xerophthalmia 
3. Infertility 
4. Blood clotting time increases 

100. 1 	ti1•-1 	-E c6) 	WrTI" 	.) 	clicii 	')41 	t: 
1. AT-- 	cm fiTR-9-r 
2. i -t 0-afilzrr 

3. €11V-1.1 
4. q9. col QTaWr 7171- 	col 	il=f-E1 Giqo-ii 

101. Atom bomb is based on 
1. Catalytic reaction 
2. Nuclear fusion reaction 
3. Nuclear fission reaction 
4. Thermonuclear reaction 

101. EIRTITul Nei 3TRTI-ffff --ff-r * : 

1. "3-0)-R-- 	31-f4Wzrr w 

2. -11 f<,6)4 ,6Qiq 	31f4WzIT tR 
--Tftl- T 	 EftTIT L-N 3. f. ..-i 	3TR 

4. dig 	11-m-Pct-) 3Tf4f --74T 1TR 

102. Four elements A,B,C and D have the following 
arrangements of electrons in their atoms 
A: 	2, 8, 6 	 B: 	2, 8, 8 
C: 	2, 8, 8, 1 	 D: 	2, 7 
What 	will 	be 	formula 	of 	the 	compound 
between A and C? 
1. A2C 	 2. CA 
3. CA3 	 4. C2A 

102. TAN 	dcci 	A,B,C 	c,i 	D 	* 	ITRliTupt 

c,)ci- "Pct-, 	R-Lik-f 	1-4-1 d 	0 * I 
A: 	2, 8, 6 	 B: 	2, 8, 8 
C: 	2, 8, 8, 1 	 D: 	2, 7 
A 31Y- C 	l'fif TiliiM -WT ~~1 cm 0,0 
1. A2C 	 2. CA 

 C2A  3. 
 

CA3 	 4. 

103. Which 	polymer is 	used 	to 	make 	electrical 
boards and switches? R---4- 
1. 	Melamine 	 2. 	Glyptal 
3. 	Bakelite 	 4. 	PAN 

103. '[ ---1. 	--g---6-- 	ciA 	il-R1) 4 I 	NU 	3117 

----T4 # 61(1I t? 

1. 	c-wii*-1 	 2. 	Rrit-tei 

3. 	c.c-ti*t 	 4. 	PAN 

104. Which of the following does not react? 
1. CuSO4 + Zn 	2. CuSO4 + Fe 
3. CuSO4 + Ag 	4. CuSO4 + Mg 

104. 1-,---iffZ.qct 1?f -R). 0-I 31f4W4T .9-6I ct-) 41i? 
1. CuSO4 + Zn 	2. CuSO4 + Fe 
3. CuSO4 + Ag 	4. CuSO4 + Mg 

105. Acid present in curd is 

	

1. 	Tartaric acid 	2. 	Oxalic acid 

	

3. 	Citric acid 	 4. 	Lactic acid 

105. -qtf # 	 3P 	31:1R-21-U 6)c11t I 

1. 	ciact, 31- r 	2. 	31T-Otra 

3T171 
3. 	NW 3.11 1 	4. c,)Rtch 3Pf 

106. Read the following statements carefully and 
identify X, Y and Z. 
(a) X is stored under kerosene 
(b) Y catches fire on exposure and is stored 

in water. 
(c) Z reacts with water slowly 
1. Na, Mg, Cu 	 2. 	Na, P, Fe 
3. Cu, Zn, K 	 4. Zn, Cu, Na 

106. i- --ir%cf 	zi-9-f 	4?) 	u][mc& trf.-q 3417 

X, Y 3tYR' Z 	c 	1-1 -cilf 	I 
(a) X cM filt 	Ori # 7- TIT viic-ii t I 

( b) Y 	cM 	TgaT TE14 LH 	c16 31-rfr Lici-)4 c,)c-ir 

t. 
\3,4) 	"ciTt # 71-F k3-1101 	t 1 

(c) Z ITA 	112.TOtift 	iDD,At 	slc-1! t I 
1. 	Na, Mg, Cu 	 2. Na, P, Fe 
3. Cu, Zn, K 	 4. Zn, Cu, Na 

107. Nichrome is an alloy made of 
1. Ni, Cr and Mn 	2. Cr and Mg 
3. Ni and Cu 	 4. Ni and Cr 

107. PNUT-q 	Th-T.1=1 74 $Y9-# 	UTV 	31--0-Q-1-ff 

tt t I 

	

1. 	Ni, Cr lcl Mn 	2. 	Cr 3.N' Mg 

	

3. 	Ni k-r,c4 Cu 	 4. 	Ni lu Cr 
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[ 108. 	What is meant by 1u? 
1. One atom of C-12 isotope 
2. 1/ 2 th of mass of a hydrogen atom (H-1) 

3. One atom of any element 

4. 1/ th of mass of a carbon atom 
/12 

108. 	1u vR 	3TM off ‘-14-IVC-1 t? 
1. C-12 RiTTR--2T1 	0)1 	ct)Tuj 

. 
/1 2 

- 2. H1 	ct-) 	ITRTITuj 	1-T17 	
/1 
1 / ql- 

APT 

3. -I ---41 	cIcti 	4)1 	c,r) 	1-1,0-1IS 

-f 4. C-12 	ct-) ITTPITtil * qTR (t)1 	X2  

liFT 

109. 	How many oxygen atoms are present in 88.0g 
002? 
1. 	2.4092 x 1024 	2. 	1.2046 x 1024 

3. 6.023 x 1023 	 4. 	1.8069 x 1024 

109. 	88.0g 	CO2 	-44 	3U 	i1 .f:---d-4 	1:1711Tuj 

3urR-24--d-  t 1 

	

1. 2.4092 x 1024 	2. 	1.2046 x 1024  
3. 	6.023 x 1023 	 4. 	1.8069 x 10

24 

110. 	The atomic mass of oxygen is 16u and the 
molecular mass of ozone is 48u. What is the 
atomicity 	of 	ozone, 	if 	it 	is 	an 	allotrope 	of 
oxygen? 
1. 	1 	 2. 	2 
3. 	3 	 4. 	4 

110. 	3itaRTr--- 	. c-1-) 	ERT1Tig 	ct)I 	c.214-1I-1 	16u 	t 

't ITT 	3i1'11-1 	kc, 	3113j 	c-)1 	c2-1 4-II-1 	48u 

3T) 11)--1 	(6) 	L-1,0-11upd1 	off 	t 	tift 	t 
3TI-TZ4M-9-  4)1 	-) 31-14R- t,T t? 

1. 	1 	 2. 	2 
3. 	3 	 4. 4 

111. 	An element X forms an oxide with formula 
X205, What will be the formula of its chloride? 
1. 	XCI5 	 2. 	X2CI5 
3. XCI 	 4. X5Cl2 

111. 	c.1-) 	c1cci 	3 cN1I 	c0i 	-)1 	X205 	* 

-Err 3-ff 	c1c-ti 	-. 	(1-cd)15 	(01 	,q\-:i 	q61111 
1. 	XCI5 	 2. X2CI5  
3. XCI 	 4. X5Cl2  

---- 112. 	Which 	of 	the 	following 	solution 	will 	exhibit 
Tyndall effect 
1. Salt solution 
2. Sugar solution 
3. Copper sulphate solution 
4. Starch solution 

112. 	f ,---11-xzqo 	4 --)- 	4'k-i 	ffuF 	i;r4T-4 
t? 
1. .1,14) 	4)1 	ftd-z:1 

1-41  2. 44 	c-R1-1  
3. ()IL-N TI-Fb\Z 1.-OR:M 

4. ‘-l-cl 	fc-H-1-1 

113. 	The boiling points of some gases found in air 
are given below: 

113. 	c.41 	(1-zj) 4 .3,-0-24-d-  . 	ftl' 	4-4`2  

	

t- 	. 4N t - 
41,d Kr Ne N2 02 

Gas Kr 	Ne 	N2 	02 
ctci 2-1 'i 14) 	°C -152 -246 -196 	I -183 B.Pt. °C -152 -246 	-196 	-183 

&TR" 	1731 	•14-wir 	cm 	g4TrIt 34-Ri-- 	f --zi-r If the 	liquid 	mixture is fractional distilled, the 
order of gases distilling out will be - 
1. 	Kr, Ne, N2, 02 	2. 	Ne, N2, 02, Kr 
3. 	N2, Ne, 02, Kr 	4. 	02, Ne, N2, Kr 

.m--9-  -1-'1c 	3ITRTftU 	8).) 	rA- 	44 	cm 
)411 	- 

	

1. 	Kr, Ne, N2, 02 	2. 	Ne, N2, 02, Kr 

	

3. 	N2, Ne, 02, Kr 	4. 	02, Ne, N2, Kr 
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114. 	Study the table given below and choose the 
correct statement: 

114. 	#-- 	-4t 	-1-F 	cilfc1)1 	q)1- 	tzl-F 74 	1-Ict) 	f 
Ujet - '21-4 cm ••E1-4 	q: 

Element No. of 
Protons 

No. of 
Neutrons 

No. of 
Electrons 

occi  * 	(1-5-;1,-i 
(4) 	\';. 	1 ,-k__,-U U 11 12 10 

V 20 20 20 ,.-itcii - 

U 11 12 10 W 16 18 18 
V 20 20 20 X 20 19 18 
W 16 18 18 Y 14 15 18 
X 20 19 18 Z 10 10 10 
Y 14 15 18 

1. W is a noble gas 
2. X and Y are cations 
3. U and V are anions 
4. Z is lightest element and noble gas. 

Z 10 10 10 
1. W 	ci..) 3-TtZ 4i t- 
2. X 3117 1' 	-1-1V111 t I 
3. U 3117 V =feu! RI.1 ' I 

-3-qt -  4. Z Ti---41)• 	cr_r) ( .cic-c; 	t 	41,t1 	t I 

115. An ionic compound of element M and chlorine 
the the formula MCI3. The molar mass of MCI3 

is 118.5u. What is the molar mass of the oxide 
of element M? 

	

1. 	28 	 2. 44 

	

3. 72 	 4. 99 

	

115. 	cicci 	M 	3-fi-7 	ad 	-I 	r.i-) 	31Tzfcp
has MCI3 	-T- T-- 	t 	D,(ict,r 	34rurft- 	ci-i;-11,1 

118.5u 	t I 	. Rit 	cic-cl 	M 	ct 	3f1 rfrO 	'PI 
3frfo-a- 	cLi;-ii-i Zf 0;11? 

. 	1. 	28 	 2. 	44 
3. 72 	 4. 99 

116. 	The freezing and boiling points of a substance 
P 	are -220°C 	and 	-185°C 	respectively. 	At 
which of the following range of temperature 
will P exist as a liquid'? 
1. Between -175°C and -210°C 
2. Between -190°C and -225°C 
3. Between -200°C and -160°C 
4. Between -195°C and -215°C 

41I?  

116. 	fttft 	t-Ki2t 	P 	4)1 	7ici-11.4) 	3117 	ctc121---- 

220°C 	3fN -185°C t I 	ffi;ifrift--d-  A 
-• 	 -4 ,R 	01 L14-ii -I). 	t-- 	4 	P 	cici 	3M2TT 

1. -175°C 3N -210°C 	fl--- 
2. -190°C 31'1-7 -225°C 	.41- • 

3. -200°C 3417 -160°C 	41-4 

4. -195°C 341-7 -215°C * t- 

• 

117. 	Ice floats on surface of water because 
1. It is heavier than water 
2. The density of both ice and water is the 

same 
3. Ice is lighter than water 
4. None of these 

117. 	•' 	LfT4i 4 ,6 cI6 TR' WI t T(11 	- 
1 	-16 tirt tr vi-ft t 
2. 	1=1-{t 3N .q1:= 	q)-I) 	4)1 	q -1 cci 	,6411-1 	0c1,  

t I 
3. 6'4.; 14A 	-6-- r -&-O't t i 
4. --4 	(1))*. 	• -et 

118. 	Which of the following process require heating 
1. 	Fusion 	 2. Condensation 
3. 	Vapourisation 	4. 	Solidification 

118. 	( ,-1WZqci 	A' t f4:-)u.  71 -11T 	• 	ci-)--ii 

-g? 3 -14VEr 	61di 
1. 	,141c1.-1 	 2. 	,-1-1--i-f 

3. 	cl I Ell) ct-) 	u I 	 4. 	yi4-1.-11 
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119. F417fr-61%ffl 	 -Q113:T'Wur 4)I 

t 
1. - Tff-er a.)-  47d-A TR •1 	cMul 1 1Ti 

610 Wt 't I 
2. (-114 411.-1 47d4 1--R c110)(Mul c 	1c 

rd'f t I 
3. "41741M-77 iiT2T 	-11-1 411,1 Th-lft 

3Tr-O't t I 
4. 341tdT q7d-4 147 CHUN-PO-1i cbr) 

411 -Erq cif 	l 

119. Which of the following is not a characteristic of 
evaporation? 
1. Rate of evaporation increases with 

increases in surface area 

2. Rate of evaporation increases with 

increase in temperature 

3. Evaporation of liquid is accompanied by 

decrease in temperature 

4. Rate of evaporation increases with 

increases in humidity of air 

120. What are the main scales of measuring the 
temperature? 
1. Joules scale, Fahrenheit scale and Kelvin 

scale 

2. S.I.scale, Kelvin scale and Celcius scale 

3. Celcius scale, Fahrenheit scale and Kelvin 

scale 

4. Joules scale, Kilojoules scale and Ceicius 

Scale 

120. 0144-11.1 	IjUq. 	(411-*1->) - 
1. 	 -q)a.  3117 -Itqff 

2..31-1-4. 	tZ,ciTT 	311-R' 

`4)1Z"d 	Ni 

3. ‘)1Z-t1RN-f cf,'t79-6ke 

4. , 	 of 3i 3)ffiTZRT 
crf 

121. There are 15 electrons and 16 neutrons 
present in an element X. Which of the 
following correctly represents X? 

	

31X 
	 31 X 1. 15 	 2. 16 

	

16y 	 15 17 

	

3. 15" 	 4. 16 A" 

121. k ct cR 	X 14 'cic-1-1 
„ 

-11 	‘1R.-q-11 15 3117 
r9)-1 	(-0 s(-ks-Lii 16 t I f)4--i11{ZAd A t 

col-t 	 WqrVi-ff > I 

1. i 3  s  I 	 2. 16XX 3I   

3- 15  6X 	 4. 1 15X 

122. Simple distillation can be used to separate - 
1. A mixture of benzene (b. pt. 80°C) and 

toluene (b. pt. 110°C) 

2. A mixture of ether (b. pt. 35°C) and 

toluene (b. pt. 110°C) 

3. A mixture of ethanol (b. pt. 78°C) and 

propnone (b. pt. 50°C) 

4 All the above 

122. TiTUR7 3IRT-a9' faf4 m-R-r f -R)-  7.1-T cm 
flct-, 

1. 411-9-  (4,1-24-iict, 80°C) 3.1N Z-1*-1 

110°C) .4-if ftP,Tur 

2. (c-FT)-1•114-) 35°C) 311-R tic1.4-1 

(q42T91115 110°C) cbi Pr3Tur 

3. 29TH (ci-c12-1-4-  78°C) 31 

(q-ci2.17t .  50°C) ct)i ftrwr 
4. -I Tit 	(-1)(4-c-i 	ct)) 
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123. 	The constituents of a heterogeneous mixture 
are X, Y and Z. if the mixture containing X and 
Y is taken, X can be separated from Y by 
using 	magnetic 	separation. 	If 	the 	mixture 
containing Y and Z is taken, the two can be 
separated by using evaporation method. The 
different states of X, Y and Z are as follows: 
1. 	Solid, Solid, Liquid 
2. 	Solid, Liquid, Solid 
4. All are Liquids 
5. All are Solids 

123. 	14qi21 	X, Y'2.,TT Z 	co) 	fk-ilcO 	ych ftflift 
it 	Gi-w-ii 	41e4i I 	X 30 `t) P13117 	X 

-R-r 3117 Y co) 	- ---e'Rp 	71--4WRvi it4 T 1:121 
-0 +-zr 	t* f 	r 	*IcocII 	I Y 	i Z 	ftNui  

.g1-R-r q -I•• 	Ere-T1 	co) 	ci 1 Qcoui 	f4-14 	tpl- 
chi s -lcOa "t I X, Y 	31t Z 	1 31-q7e1T soi-in 

ti-Tir - 
1. 	:-..')fl, 	&fff, 	ci 
2. U\IR=1, 	, 	6) ,-1 
3. Tilt cc 
4. il.fr 6),-1 t 

124. 	Manvi put naphthalene balls in the box of 
woollen clothes. After a few months, when she 
opened the box, she noticed that there were 
no naphthalene balls but the box had its smell. 
What happened to the naphthalene balls? 
1. It changed to liquid and then evaporated 

2. It directly changed to vapours 

3. It dissolved in the moisture absorbed from 

the clothes 

4. The moths present in the box/clothes ate 

it 

124. 	"I'll-qt --  ••--14.1 TITO -0 lit 	cl-) 14 -4(121-1A-q 
4 41 	c zii Tf§ti c 	Tret9I-  GIN vial 3ff4 

ct) 	co 	*Jr -l- 	Lim' 	14) 	*m}--19. 	4 
Trd-E 	ria or 	Ti - zil.  co TitT ff ci61 	Giti .3.1r 

.wr cif 3T14 f5T .N.41 I Atter-41-9- Tit.4zt 
-g clm 	3TT I 

 
1. t 	-4 €.1qqicp -ta -m-Rtr-ff 	- ,i41 
2. m #1•4 7fikrff t). 4 t41 
3. q). TIE-7A' -0 	-i41 	co) 	TitTfi 	co, 	3RT14 
cfl*TT 

Z)- 	4i41" 
-r11 4. q)1-1 	/ Bch 14 ZTUR-P-TU 	te; 14-d 

. \i 	R3fT f'zTT I 
125. 	The correct order of increasing number of 

protons is represented by 
1. 	K, I, CI, Br, Ar 	2. 	K, CI, Br, I, Ar 
3. 	CI, Ar, K, Br, I 	4. 	Ar, K, CI, Br, I 

125. 	f4r9fo-tru -4 Th1"971.1 TIr&ff 	,fltczli 
T60-  so4i co) 	qii"fff t I 
1. 	K, I, CI, Br, Ar 	2. 	K, CI, Br, I, Ar 
3. 	CI, Ar, K, Br, I 	4. 	Ar, K, CI, Br, I 

126. 	3.42g sucrose [C12H22011] is mixed with 18g 
water in a beaker. The number of oxygen 
atoms present in solution is 	. 
[Molar mass sucrose = 342 g mol l]

l  1. 	6.68 x 1023 	 2. 6.09 x 1023 
3. 6.022 x 1021 	4. 6.022 x 1024 

126. 	y co 	fl-----7 14 	3.42g 	s(stsoi 	[C12F122011] 	4 
18g krio 1?1.  fatzi ft-41-  yin t I ft-a-z:M.  # 
fdzITIM 3r1-4#-- 	1:F9-9A 4 ,(-iszii t - 

- N51-4i `+'i1 1:1)-67 su-14-11-1 = 342g mol] 

	

1. 6.68 x 1023 	 2. 6.09 x 1023 

	

3. 6.022 x 1021 	4. 6.022 x 1024 

127. 	How many electrons are present in M shell of 
an element with atomic number 20? 
1. 	5 	 2. 	8 

- 	3. 	12 	 4. 	18 

127. 	yco 	cicci 	f ,t-lcb) IPTITuj ,-iAi 	20 t 	\3&) 
M  Taff .4 f45--d-4 	(,)cl-'1--1 	-crft-qu t? 
1. 	5 	 2. 	8 
3. 	12 	 4. 	18 

128. 	Which 	one 	of 	the 	following 	pairs 	of 
compounds 	illustrates 	the 	law 	of 	multiple 
proportions? 
1. H2O, Na2O 	 2. MgO, Na2O 
3. CO2, SO2 	 4. SnCl2, SnCI4  

128. 	R4-1iR_(1 	-4 	t 	0.-1 	-01-  "glii 	trlfIM 
91-ff 3TqcITd z r4z1TE 4 -q-zr1---d-r t? 
1.. H2O, Na2O 	 2. MgO, Na2O 
3. 002, SO2 	 4. SnCl2, SnCI4  

129. 	The functional groups present in amino acids 
are 
1. -NH2,•-0001--1 	2. -NH2, -0-H 
3. -COOH, -OH 	4. -COOH, -COOR 

129. 	•rlit9) 311 11 # 31-4R-P-M(b4ficiico T11:7 5)c- 

t : 
1. -NH2, -COOH 	2. -NH2, -0-H 
3. -COOH, -OH 	4. 	-COOH, 
COOR 
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130. Valency of potassium (K) [Atomic number 
(z)=19] is : 

	

1.3 	 2.2 

	

3. 	1 	 4. 4 

130. Li 	1,14-1 	(K) 	(W1:1111 	SP9 I ct) 	= 	19) 	4 

1,'.4) vict)01 tt t : 

	

1. 3 	 2.2 

	

3. 	1 	 4. 	4 

131. The sugar present in DNA is: 
1. Ribose 	 2. Maltose 
3. Glucose 	 4. De-oxyribose 

131.  &\,-.:1N. # Vi- RT qT4t 7dTit t : 

1. 	VI-5-0 	2. 	ilietiVI 
3. 	4c1co)-i 	4. 	ti-311-ct\LNI*Gi \'-i 

132.  The girth of the stem increases due to : 
1. Cambium 	 2. .Xylem 
3. Phloem 	 4. Cortex 

132. 74 c6) trit4 .4 7% -Tii t : 
1. 	cifkerff gm 	2. 	vl 1*(111 gki 

3. 	1T-A7TT URI 	4. 	T)-N7c'T gisfl 

133. On 	maturation, 	green 	tomatoes 	turn 	red, 
because: 
1. New chloroplasts are made 
2. Chromoplasts are changed into 

chloroplast. 
3. Chloroplasts are disintegrated and get 

converted into chromoplast. 
4. Leucoplasts are formed 

133. 4R4cm 	-64 vrsz, 	0 .tri. .4-,- 	tillt 	(lief -tiT 

-ft # gRcaci tr vile)- g, (v41. 
1. .-i 	q-oftciTRZ 	- t I 

2. T)4i) co 1 '4- , ctc1N)kl k- 	# sec 	t 
\3-i i 	d * I 

3. ctei))1-c-1 ist-t 	tc, cl * 3I17 sP)41)t-ri-i* 

LiRciWi 	,lia * I 
4. cic0)k.cik< 6.1•1Ci t I 

134. The basic unit of classification of organisms is: 
1. Order 	 2. Family 
3. Species 	 4. Class 

134. lit 	q711T7u1--c-ro)• 	- Th-r-  *: 
1. 	4iu! 	 2. 	ctrl 
3. 	Wit 	 4. 	ii  

135. 	Mitochondria are found: 
1. In all cells 
2. Only in plant cells 
3. Only in animal cells 
4. In all eukaryotic cells 

135. ITI-*--6TT TTTR-  \TI I() g- 

1. *). . -)Thcroti 
2. ccic,i "cfl- 	Th-TffIcoi3rt # 

-z1-6* ufg Ti.)•) ft- t # 3. z5, T3 

-4 4. Tit 40 Nliect, m-- Rw-341 

136. 	'Foot and mouth' disease in cattle is caused 
by 
1. Bacteria 	 2. Virus 
3. Protozoa 	 4. Fungi 

136. TititRil A -0-4 ci I CI I 'W 	Ci T17' TT 7)7T 

61 di *: 

1. ct.cc)NT gT-4TuT) 	TiR 

2. 17114P31 'OW 

3. •cf)&A3TT •gTRT 

4. cocict) TIRT 

137. Lysosomes are produced by: 
1. Mitochondria 
2. Endoplasmicreticulum 
3. Golgi apparatus 
4. Leucoplast 

137. ciii)-04i fIlif-ff fct) 	-ia * : 

-g 1. 1:1-qaco'ffi 	ki 

2. 3i-dtair viiict-,i NT 

3. ili-Mi \3Lict-Pul TIT 

4. eTt.))Leik-e •g•TRT 

138. Which one of the following is not a connective 
tissue? 
1. Bone 	 2. Cartilage 
3. Blood 	 4. Muscles 

138. 1. 4- -if%c-i 	"et 	'09' - c.t) 	"qtzM 	3T-dT 	-la.  

t? 
1. 	3TR-Q.T 	 2. 	3ITTR2T 

3. 	xcl-cf 	 4. 	7i-ftRrr  
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139. 	Which 	light 	range 	is 	most 	effective 	in 
photosynthesis? 
1. 	Red 	 2. 	Blue 
3. Green 	 4. Violet 

139. 	,icPRI 	•-N(,)tiul 	. 	i, 	f:+--Ti 	31---1=1 	cm 
qchRi ,dc-i fcl) 1:117471TA-  t? 
1. 	ciiri 	 2. 	t-FT 
3. 	6Nfl 	 4 	471-- r 

140. 	The metal which is a constituent of chlorophyll 
is: 
1. 	Iron 	 2. 	Copper 
3. Magnesium 	4. Zinc 

140. 	cm sfl 	cl -4 -cri- 	,ii ,qr-'t ur-,o-, t: 
1. 	d.6 	 2. 	ct)'Iuk 
3. 	ti TtftRITT 	 4. 	f' - 

141. 	Closed Blood vascular system occur in: 
1. Earthworm 	 2. Housefly 
3. Cockroach 	 4. Prawn 

141. 	Glq 	c.i-cl 	1-4R4-r-lul 	c1--%i 	riTTIT 	vilcil 	t 
1 	ct;13T1 14 	 2. 	1W€11-  
3. 	cr)-14) -4 # 	 4. 	Tf4-TT 

142. 	Amoeba acquires its food through: 
1. Plasmolysis 	2. 	Endocytosis 
3. Exosmosis 	 4. Cytokinesis 

142. 	31 	MT 3TEIT 41)-- 9-11-61:7 cf-)cli t 
1 	ullciaicti-co-i TR-r 
2. y),-11*t)RN1 g171- 

-FT 3. Gift-kk-kul 
4. 'th*t)cr)1*.)1Z-N-1 TRT 

143. 	The tissue which makes the plant hard and 
stiff is: 
1. Parenchyma 	2. Sclerenchyma 
3. Collenchyma 	4. Arenchyma 

143..i)c-Icl.), 	11W' 	-4 	zb-th7 	yci 	1:1-- cc1 	Efrildi 

t, c16 t 
1. 	1 	--ct)1V-il 	 2. 	s-ct-e) 	--0-)1*+-1 1 
3. 	cro-ie)--colill 	 4. 	•-(.1-)1V-11 

144. 	The organisms which depend on decaying 
organic matter for their food, are called: 
1. 	Photosynthetic 	2. 	Parasitic 
3. Saprophytes 	4. Sanguivores 

144. 	T-4', 	ul) 	4  I C) -Tr* 	' 	Li 

3179-{ ltr--9-  ri-rtu (4), () t 	co 	(,-i1t : 
1. 	,M:t-i)ti) 	 2. 	t-1Qc1) 
3. 	17-Irt 	 4. 	7--4 

145. 	Marsilea is a 
1. Monocot 	 2. Bryophyte 
3. 	Pteridophyte 	4. 	Dicot 

145. xiTeitz/T 	, y co: 
1. 	7W-4)---clt 	 2. 	cAN-i)t-ore 
3 	I 	 4. 	(EN-it-i -;) 

146. The enzyme which requires acidic medium for 
its activity is: 
1. 	Trypsin 	 2. 	Pepsin 
3. Amylase 	 4. Chymotrypsin 

146. 	yvii*H, 	1ctlTi• 	D-)Lti4ei 	.-) 	* .i.7, 

31171 ITTurli cAarr-q-vziw-d-r ter t, c16 t: 
1. 	ftfTff 	 2. 	41kr- 
3. 	'crl'i 	 4. 	ct)1 4-1)rni-i 

147. 	Vertebral column develops from 
1. Ectoderm 	 2. Endoderm 
3. Mesoderm 	 4. Notochord 

147. 	-4--0 ictactdT t: 
1. 	611 1-kc1 	 2. 	3rd:147ff 
3.I:Fail:17ff 	 4. 	--i)t)4)).4 tr 

148. 	The two hosts of tapeworm are: 
1. Man and sheep 	2. Goat and Snail 
3. Pig and Man 	4. Pig and Snail 

148. 	QclIcp 44 	LT Er 	t : 
1. 	4-ii-ici 	yci 	'4)-- 	2. 	T'll" 	7'• 

zil-Err 
3. 	j3.R yci 4-11-ici 	4. 	3W 	l ci 

'EftEr-r 
149. 	The 	gland 	which 	is 	not 	associated 	with 

Digestive System is: 
1. Pancreas 	 2. Adrenal gland 
3. 	Liver 	 4. Salivary gland  

149. 	-04, 	.il 	1-11-c{-1 	c-k. -R4 Ti-lffr_TJ ;It 	t 	c16 
.t: 
1. 	3-1 	-111,  

3. TiTa 
-- 4. Mk 7j-f 
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150. The pitcher of pitcher plant is modified: 

1. Lamina 	 2. Leaf base 

3. Whole leaf 	 4. Leaf Apex 

150. EIZT11111 	'14 -45-f 	--1d, 	sOt-11-171.  t, 

1. undi) 4 
14-- 1- 	V7 2. chl 	31-F 	0)1 

 
3. T11=c0 1T4i 01 

4. 1-1-41-  V Wftt (01 

151. 	Which one of the following disease can be 
controlled by antibacterial medicine? 
1. Dengue 	 2. AIDS 
3. 	Typhoid 	 4. 	Malaria 

151. P4---iW.go 	-4 	-ft--i 	,)41 -q-7.1. 	.,-c) 	ct 	i4e1 

3N-ft) Tu -i_nci fzT vii ,1(t)c1r t? 
1. 	41., 	 2. 	Nt-1 

3. 	cH-It-t)i0 	 4. 	TI---- RstiT 

152. Which one of the following groups will 	not 
come under cryptogams? 
1. Thallophyta 	 2. 	Bryophyta 
3. Pteridophyta 	4. Gymnosperm 

152. - f 	--1 	iftrn 	4, 	'1: --Ri.  - 	1 	-, 	-4 
v_Ir ,ticil 
1. 	Ori)t-ibt 	 2. 	O1I)Lb1*t1 

3. 	.{Uk-t)l*t1 	 4. 	IZTI--i1 tq . 

153. The vector of sleeping sickness is : 
1. Culex 
2. Aedes 
3. Tse tse fly 
4. Female anopheles 

- 
 

k;.-111f  

153. --q "f 	u11fr" 	T . iliciI6c,f) 	t: 
1. 	(Ne,c)c1N1 	 2. treRi 
3. 	-- if 	:11- 1-T-T 	 4. 	TITT 

154. 'Ball and Socket' joint is found in/between 
1. Upper arm and shoulder 
2. Knee 
3. Elbow 
4 	Skull and vertebral column 

154. 

3. 	#  

'cr)ct.) Uft-,T cWr -#14 . 	cr TC f 	c : 
1 	trzi 	(--i 	, 0-  
2.  

'W)--0-4)' 
4. 	-dic* 'C',-.  4q,-, 	,; .4)1c 	14 

155. In the following, which is not a cold blooded 
animal? 

	

1. 	Snake 	 2. Lizard 

	

3. 	Rat 	 4. Turtle 

155. f -IJrcIftfi-ff -4, ci-f "q- 	3Nilf-ffTli 	viq -ig):  

t? 
I. 	TATI 	 2. 	WIcr)c,  

• 
3. 	-V 	 4. 	WEVTT 

156. Oxides of nitrogen and sulphur dissolve in rain 
water, form 
1. 	Basic rain 	 2. 	Acid rain 
3. Pure rain 	 4. Water gas 

156. -11:-. 	vi-i 	A- 	•-icA-t) 	31-1TUT0 	q•Eft 	'. 

uld # icicl-), 	T-ilc) t: 
1 	Mitizi W 	 2. 	&t-r2 ,1-4 citit 

3. 	'ZI4 7cif 	 4. 	ulcrl 	41,1 

157. 'World Environment Day' is celecratetion 
1. 4th June 	 2. 5th June 
3. 	4th July 	 5. 	5th July 

157. "F 	 -r 4Y-4 1-lz.i.cNur ft-4R-i" 	4-i•-wit 'To t: . 
1. 	4th --6-0 	 2. 	5th q-f 
3. 	4th qc-114 	 4. 	5th v01.4 

158. A micronutrient is: 
1. Manganese 	 2. Nitrogen 
3. Phosphorus 	4. Potassium 

158. c.t-) T-17:111ff t: 
1. 	-41T4 	 2. 	-II 	kyl-i 

3. 	.14)1,41 i 	 4. 	lit>itzl-F 

159. An Italian honey bee variety is: 
1. Apis inellifera 	2. Apis dorsata 
3. Apis indica 	 4. Apis italiana 

159. Td---A 4 #7{-cffTt Mei ft-Tri t: 
1 	fft-R-  /./c9, k// 	2. 	c-)7?/-6-  .1/k/de/ 

)c-ff 3 	c)i7 .Ffe--O-T 	4. 

160. A kind of waste disposed system of the cell is: 
1. Chromosome 	2. Ribosome 
3. Mitochondria 	4. Lysosome 

160. 4%4 	4)1 31t-tRit 	1- LItt-, 	clicit 	ci-A-  t: 

1. 	44-i) a 4-f 	 2. 	RN1a 4-i 

3. 	4-11*t)ct)WV-11 	4. 	dI*0 '0 41 
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, 
161. Special structures in the roots of legumes with 1  

nitrogen fixing bacteria are called: 
1. Root nodules 
2. Root patches 
3. Corolloid root 
4. Adventitious roots 

161.tf)-- r-<7 1=1V. 	Th°1- 	ul). 	-4 	-11* 	\)-1.-1 
RQTR-fur 	Cl)'- 4 	clic) 	tct-cc1P-11 	cl-) 	W-ti- 
Ti 
1. 

U-11 	t 	ci 6 t: 

	

1,0 -4)14--r 	 2. 	V 11- 

3. 
4-k.,1 

cr))\?Iri-i 	V 	4. 	3T1=172TT 

162. Muscle causing movement of food in stomach 
is: 

	

1. 	Striated 	 2. 	Unstriated 

	

3. 	Specialised 	 4. 	Cardiac 

162. 	3171171z1 14 7-T179-  'Q' Tit t4 	.471t t: 
1. ftq--d 4tt 	 2. 	Atm irv11-  
3. fit 	t 	4. 	. --‹-T-f 	4-`411 

163. Which of the following is without nuclers at 
maturity? 
1 	Sieve cell 	 2. 	Companion cell 
3 	cortical cell 	 4. 	Palisade cell 

163.  1111- 	%.0R-Ic1 	"OA 	4'. 	r4)Ucbn  

(1). - c-r) -jet trizir ,imi 	t? 
1. .F-6-- 1- 	0) 	14)1 	2. 	--T-1-1* 	colDicipi 

3. 4> 	IV 	4. 	1)(1.5 

4) 	14)1 
164.  Multiple fission is found in: 

1. Euglena 	 2. Plasmodium 
3. Hydra 	 4. Paramoecium 

164. 	6.1 ,-I LTTEfT 	vilc1I 	t: 
1 7i-r-A- 	14 	 2. 	1-C -K-14-1 14 
3. 6II 	4 	 4. 	(-114-1)PH-14-1 

165. The edible roots occur in: 
1. Wheat 	 2. Sugarcane 
3. Potato 	 4. Sweet Potato 

165. 	f j 14l, 	-*i- -er 	•.qN-11 	v1101 	t, 	cl 	t: 

1. +1, 	 2. 	41.11 
3. 3Tiq 	 4. 	1(-c-1-;‹ 

166. Which one of the following does not have 
DNA? 
1. 	Nucleus 	 2. 	Mitochondria 
3. Chloroplast 	 4. Ribosome 

166. T.-1 44 - 4 D-)U 	s).•-f..q.. 	-16) 'IiRTI unor t I 

1. 9TF 	 2. 	4-1-*--0(t)'11 ,Lii 

3. crc-.1) 	t-c--ik-d 	. 	4. 	-u---q'Fi)-Tr 

167. Blue green algae are included in group: 

	

1. 	Monera 	 2. 	Protista 

	

3. 	Plantae 	 4. 	Fungi 

167. tF.- Th it4T-F, -1 -RiTillg ct 3-fcrtTM 3fft 

t, 06 t-  I 
1. 17171. 	 2. 	{ - 1 

3. tifet 	 4. 	tb2----1 

168. Which 	one of the following 	is a free living 
helminth? 
1. Live fluke 	 2. Tapeworm 
3. 	Blood fluke 	 4. 	Planaria 

168. f41 1 14 	-) ,-c.R< TAtt-fru *? 

1. f7 1:FT 	 2. - 	t-1 	4 

3- ---' trq-- 	 4. -ii 
 

169. Organisms in which exoskeleton is made of 
chitin are found in phylum 
1. Arthropoda 	 2. 	Mollusca 
3. Echinodermata 	4. Porifera 

169. 	f+-7f 	1441*e14-f 	Irt 	4)1 	c116-14;cblei 

-- t- 	ci,i TAT 6lc-ii t: 
1 31-re-dm 	 2. 	0 e•H-4)1 

3. 	cr)I.-i) 41t1 	4. 	t-Mti 

170. Pearls are obtained from: 
1. 	Pila 	 2. 	Sepia 
3. Loligo 	 . 	4. Pinctoda 

170. 	"Titt" wt 	f --q-  utiO t: 
1. weit 	 2. 	e-i/ 

3 	(-12/ 17) 	 4. 	fet----c7,57 

171. If abc=1, then the value of 
1  \ -I 	( 

11 +a+-11  + 	1+b+- 	+ l+c+1\  
by 	\ 	c) 	 a )  

i

1. 	2 	 2. 	1 
s:- 	 . 

3 	4 	 4. 8 

171. tfft abc=1, 

-1  1 +a+- 
I 	

+ 1+b+- 
1 	

+ l+c+1  1 

	

b) 	 c) 	 a) 
4)1 	4-1 1 -I 	t - 
1. 	2 	 2. 	1 
3. 4 	 4. 	8 
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172. The value of 

	

1 	1 	1 	 1 is 

	

,_ 	+ 	,_ 	,_ + r_ 	,_,_ + 	....+ , 	_ 
172. 

1 	1 	1 	 1 
+  ,_ 	+ ,- 	,_ + ,_ 	,_ + 	 

V2+1 	V3+1/2 	V4 4-V3 	V9 +V8 
V2+1 	V3-I-V2 	V4-1-V3 	V9 +V8 

	

1. 4 	 2. 1 

	

3. 2 	 4. 3 

Trrff t:- 

	

1. 4 	 2. 1 

	

3. 2 	 4. 3 

173. If .113 - ajd = -A + -Ni-, then a= 
1. -4 	 2. 4 
3. 2 	 4. -2 

173. z4R V13- alisT) = -A+ -6-,t t a= 
1. -4 	 2. 4 
3. 2 	 4. -2 

174. It 	is, 	given 	that 	AABC:÷:AFDE 	and 

AB = 5cm, LB = 40°  and LA = 80° 	Then 
which of the following is true:- 
1. DF = 5cm, LF = 60° 
2. DF = 5cm, LE = 60°  
3. DE = 5cm, LE = 60° 
4. DE = 5cm, LD = 40° 

174. tif 	&IBC -:.-4 AFDE 30 
AB = 5cm, LB = 40°  cT LA = 80°  el 4 

P,--1 4 t col-f TH.  *icet 	t :- 
1. DF = 5N10, LF = 60° 
2. DF = 5ttO, LE = 60° 
3. DE = 5,t)4110, LE = 60° 
4. DE = 5,M0, LD = 40° 

175. 
a3  + 3ab2 	x3  +3xy2 rN  

= 175. 
a3  + 3ab 2 	x3  + 3xy2   

e t If 	 , then 
3a2  b + b 3 	3x2y + y3  

1. ax = by 	 2. xy = oh 

3. ay = bx 	 4. ax=b 

tilc 	 = 	 , 
3a2  b + b3 	3x 2  y + y3  

1. ax = by 	 2. xy = ab 

3. ay = bx 	 4. ax=b 

176. How much pure alcohol should be added to 
400m1 of a 15% solution to make its strength 
32%? 
1. 80m1 	 2. 90m1 
3. 95ml 	 4. 100m1 

176. 400f10 raz7 	15% faa/T9-  4 it79T •g4 
3T---- f-6-a.  Theitql krifq f 	qg 32% 37-1-6F 
cii dr q--- 49-  (Q(4) .49-  ‘31 I 

	

1. 	80 ftf0A)10 	 2. 	90 1:40-ctO 

	

3. 	95 fil0A1•0 	 4. 	100 f140-A0 

177. 
"4  - 2 2" 

177. 
2"4 - 	" 2

., )-T   t Simplified form of 	
2 2"3 	

is
2(2"+' 

:- 

1. 	
1 	

2. 	
5 

8 	 8 

3. 	 4. 	
9 

8 	 8 

	

ty<ricvi 'w-i 	:- 

1 

	

1. 	 2. 	
5 

8 	 -8 

	

3. 	-
7 	

4. 	
9 

8 	 8 

178. If a' = c" = b and c" =a' = d , then 

1. xy = qz 	 2. x =
q 
- 

y 	z 
3. x+y=q+z 	4. x-y=q-z 

178. tiR ax = cl = b - ffP-TT cY = az = d, t t 

1. xy = qz 	 2. 	x = q 
y 	z 

3. x+y=q+z 	4. 
x-y=q-z 

179. If 	a + b + c = 0, 	then 	the 	value 	of 

a 2(b + c)+ b 2(c + a)+ c 2 (a + b) is 
1. abc 	 2. 3abc 
3. -3abc 	 4. 0 

179. ziR a + b + c = 0, t-  t 

aqb + c)+b 2(c+ a)+c2(a+b)-Wr -9-F t 
1. abc 	 2. 3abc 
3. -3abc 	 4. 0 	• 
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2 

3 
3 

2 

2. 

4. 

181.  

2. 	 
100 

10000  

4. 10000 - p2  

1. 
1-p2 

200 

3. 1 	
p2 

10000 - p2  

-- 
+ 4x  = 2

x 2 
 + 2x+- 2, t X 0)1 

182. 7 1  p% 4cI r4TIT 4 1 211 I 641‹ 
4 -N 	19T p% Tr fzir 41441I Tuft &f t9.  

1TO t 	11F:1" 2.TT 

• 

180. A boy is running at a speed of p km/h to cover 
a distance of lkm. But due to slippery ground, 
his speed is reduced by q km/h. If he takes '? 
hours to cover the same distance, then 

1 1. =  pq  
r p+q 
1 

3. - = p -q 

180. 	c.t.) cylsc,t7i -1 -W41-0 (.6) 01-  cl 	cM.) 
p f+-41-0 / 	T1f 	 

t Itrv- 	 okui 3 	-cud 
fro /r 	 tr 	zrit c46 	 

Vt co) ciq co,  •)- 4 	r 	-Tr T{PrEf 

1 pq 1. -= 	 
r p+q 

3. -
1 
 = p-q 

2. 1 -.p+q 

4. r=p-q 2. 
1  -=p+q 

4. r=p-q 

x- - 	x+- 
181. If 22x-I  + 4x  = 2 2  + 2 2 , then x is 

	

1. 1 
	

2. -2- 
2 	 3 

	

3. 1 	 4. - 
3 

2 

182. The price of an article was increasd by p%. 
Later the new price was decreased by p%. If 
the last price was Re.1, the original price was: 

.J1_ p2 

100 
2 	 10000  

3. 1 	 4. 
10000 -p2 	10000 - p2  

1. 
1-p2 	

2. 
200 

183. If x2  - 8x -1 = 0, then x2  + 1 is equal to 

1. 66 + 
	

2. 66 
3. 32 
	

4. 64  

183. TIft x2 -8x-1=0, t "'r x2  + 
1 

2  T 

	

1. 66+4h 
	

2. 66 

	

3. 32 
	

4. 64 

184. The surface area of a sphere and a cube are 

equal. Then the volumes are in ratio:- 

1. 6:J 
	

2. V6 : 

3. 6:7z- 
	

4. '.7r 

184. 	c,r-) 71)-0' 	'ER 	7738t4 

sw-ivr 	 zrrtrd 	3T-I1rru 

1. 6:- 2. 16 :J 

3. 6:7t. 	 4. .16 : 
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185. If 	-
n1 = -4 and 	-

r
= -

9 	
then 	value 	of 

n 	3 	t 	14 ' 
3mr - nt 

is 

185. 
m 	4 	 r 	9 

zi 	- = - 	"2TT 	- = 	, t 	t 
n 	3 	 1 	14 

3mr - nt 
TT 111-9 t :- 

4nt - 7 mr 
-11 -51 

4nt - 7 mr 

	

1 	 - 11 
1. 	5- 	 2. - 1. 	- 	 2. 

2 	 14 
1 	 A 

4. 	
11 

3. -1- 	 . - 
4 	 14 

2 	 14 
1 	 A 	11 

3. 	-1- 	 .f. 	-- 
4 	 14 

186. A man buys some pens at the rate of Rs. 10 
for 3 and twice these pens at the rate of Rs. 
13 for 4. He sells all of them at Rs. 59 a 
dozen. His profit percent is :- 
1. 	16.67 	 2. 50 

	

3. 33.33 	 4. 59 

186. -) alif ctp 	i)-i 	10T0 	3 4 
U2Tr 341 S4,0 "tl .  13TO 	4 4 	R-).  

Nc.i 1 t I qU 39-  311-ft 491 Tht 59 TO * 

1 	q \A-I * itffr4 "0 	cii t \3,6 ul-Wr 
Th-T 	-11T vfttzu t :- 
1. 	16.67 	 2. 	50 

3. 33.33 	 4. 59 

187. A shopkeeper sells 10kg of sugar at Rs. 150. 
A customer asks for 15% discount and the 
shopkeeper agrees to his demand, but instead 
of 1kg, he gives only 960gm. The approximate 
effective discount that the customer gets is:  
1. 5.5% 	 2. 11.46% 
3. 12.64% 	 4. 10.5% 

187. ) 	solvtqi 	10 f5013T0 11-41.  150 TO 

*q-dT t I 	.) vi64o 15% Te Met Tit# cmcii 

t 	21.1* 	scm-iqi.< 	,(iiici 	t• 	vilcil 	t I 
1 iOVTO 	ismitt 96Q VT11 Vg 	Th2̀1" tt 	ci 1 

t I iii64) gm AT 	cii*cii ,r,  ltd t :- 
1. 5.5% 	 2. 11.46% 

3. 12.64% 	 4. 10.5% 

188. The sum of the coefficients of x2  and x in the 
product of (x-3) (x+7) (x-4) is 

	

1. 	0 	 2. 	37 

	

3. 84 	 4. -37 

188. (x-3) (x+7) (x-4) * 41-uvii-pqf 4 x2  mi.  x 
117t4 -WT e4) 4  I t 

	

1. 0 	 2. 37 

	

3. 84 	 4. -37 - 

189. If V3 =1.732,.v =1-414, then the value of 

4 	 3 is , + 	,___ 	, 

189. - .IR ,h = 1.732, ../2--  =1.414, t 
4 	 3 TrFm-T 	't ,_. + 	,___ 	r_. 

3-ii-2V2 	3V3 +2V2 

	

1. 2.036 	 2. 2.063 

	

3. 2.603 	 4. 2.306 

3-IS -2V2 	3V3 +2V2 

1. 2.036 	 2. 2.063 

3. 2.603 	 4. 2.306 
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190. In the given figure, AB II CD II EF 

PQ II RS, ZROD = 25^ , ZCOP = 60°, then 

ZQRS is equal to 	 s 

A 	 B ... 

190. t 4 I 	 3T1 Tit #, 1{ 	 AB II CD II EF 

PQ II RS ,ZRQD = 25°, LCQP = 60°, -M 

LQRS <PI 1-11-1 t 	 s 

A 	 B 4 	.1. 4 

C 	-Q 	.k 	° 	D 
/ - 

C 	Q ,db, ° 	D 60°W 

E 	 F 
---6C, ' lir 

E 	 F P . 

	

1. 	135° 	 2. 	110° 

	

3. 	145° 	 4. 	95° 

	

1. 	135° 	 2. 	110° 

	

3. 	145° 	 4. 	95° 

191. 	The cost price fo a desk and a chair is Rs. 
371. If the desk costs 12% more than the 
chair, then cost price of the desk is 
1. 	Rs. 175 	 2. 	Rs. 196 
3. Rs. 180 	 4. 	Rs. 200 

191.  ct) 	•-ct)2,T1.  Leh Ttff WI 5N4 ilo 	-c) 371 

t 1 oR 	*,, cot coo 11-Ft TA * coo -41FT 
-0 12% 3 	Zi t "M" . R7F 	-1' srk4 11-FT t:- 
1. 	Rs. 175 	 2. Rs. 196 

 
3. Rs. 180 	 4. Rs. 200 

192.  In figure, X and Y are mid points of AB and AC 
respectively 	and 	BC=6cm, 	AB=5.4cm, 
AC=5cm. Perimeter of trapezium XYCB is 

A 

192. 3ITTit k X2,1T Y soi-Ri. AB '2TT AC 

19uT f:4" 	t I BC=6 tilt, AB=5.4ttO Uzl'T , 

AC=50t0, *vidi-Gi XYCB --1-  zfr4971 t.  
AA 

AIIM Y X 

Allk  C Allk 

1. 16.4cm 	 2. 14cm 
3. 14.2cm 	 4. 13.4cm 

C 

	

1. 	16.4 ttO 	 2. 	14 ttft0 

	

3. 	14.2 4'0 	 4. 	13.4 trft0 

193. A heptagon has 4 equal angles each of 132° 
and remaining three angles are also equal. 
The measure of one of the three equal angles 
is - 

	

1. 	132° 	 2. 	124° 

	

3. 	142° 	 4. 	123° 

193. 7 TR:11-17 * 	tiN 	GNIEN 	-11:31 4 Ac T. 

132°  TT t I 3T- T cil-1 co)ut (ENIEN t I 6kiEN 

cil-r --)-tk 4 .crr-- 	m-r Trrcr t I 
1. 	132° 	 2. 	124° 
3. 	142° 	 4. 123° 

194. In the given figure, the value of x is 
R 

b 

P 4 a SC( 

Q̀  

1. a+b-c 	 2. a-b+c 
3. a+b+c 	 4. a-b-c 

194. t 4 i4 31-r et •i, x 	T TfT9* t I 
R 

b 

P 4 a Silx 

clk Q 
1. a+b-c 	 2. a-b+c 
3. a+b+c 	 4. a-b-c 	, 

195. The value of V20 +14-J 	+ V20 -14/i is 

1. 	20 	 2. 	14 

3.6 	 4.'4 

195. V20 +14-N5 + .31/20 -14-j coi 41i-I t I 

1. 20 	 2. 	14 

3. P 	 4.4 
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196. If ax + by = 3, bx - ay = 4, x2  + y 2  =1, 

then the value of a2  + b2  is. 

	

1. 25 	 2. -25 

	

3. 	16 	 4. -16 

196. tiR ax + by = 3, bx - ay = 4, U2TT 

x2  + y 2  =1t a 2  + b 2  • -•T Iii 	t 
1. 25 	 2. -25 
3. 	16 	 4. 	-16 

197. If x + 
1 
- = 5, then the value of 
x 

x4 + 3x 3 + 5x 2 + 3x +1 
is 

197.  q 	 x + -
1 =....

. 5, 
x 

x4 + 3x3 + 5x2 + 3x + 1 
--r Trm t 

x4 +1 
,, 	41 	

4  
n 	43 

I . 	 . - 

	

23 	 23 

	

3.  _ 	 4. - 

	

21 	 21 

X4  +1 

,, 	41 	 n 
L 	

3 

	

I . - 	 . - 

	

23 	 23 

	

3. - 	 ft . 	
45 

	

21 	 21 

198.  3
/6

,- 198. 
2/6- 	x + Vi 	x + _.\. 	 15 

If x = 	, then the value of 
1/3 +1/ 2 

x + -5 	x +..h 
+ 

q 	x = 	,- 	/- , ni 	,- + 
4 3 + 1/ 2 	x - -N/ 2 	x - .Nh. 

. --r Trr9.  t 
1. 	0 	 2. 	1 

3. 2 	 4. 

, is 
x-,/ 2 	x - .,/ 3 

1. 	0 	 2. 	1 

3. 2 	 4. j 

199. The area of a circular ring enclosed between 
two 	concentric 	circles 	is 	286cm2. 	If 	the 
difference between their radii is 7cm, then the 
radii of these circles are 
1. 12cm & 5cm 	2. 9cm & 2cm 
3. 11cm & 4cm 	4. 10cm & 3cm 

199. it •-i 	-4lq 	civi 	Tr VRI TOTE (( +i) 

aW:5-. 	286 	4)02 	t I 	qR 	T41.  
-.zi r-  TA 	.-r 	3r----q 	Ttito 	t 	t 	ci-di 	4 

q t 

1. 12 t)illo .121T 5 ,4)4110 
2. 9 tt02rT 2 ,4)410 
3. 11 	,t)4-110 U2TT 4 	ii)0 
4. 10 •4)4)0 -12IT 3 't)4)0 

200. If x = (27)X and y = (28)K , then the value 

1 
of 	 is 

200. qR x = (27)X 241-  y = (28)X t 

1 	
m--i-  ITF t x + y 	2 	2  

x +xy+y 

	

1. 	1 	 2. 	3 

	

3. 6 	 4. 	
1  
- 
3 

X + y 	2 	2  
x +xy+y- 

1. 	1 	 2. 	3 

3. 6 	 4. 	
1 
- 
3 
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